Pronecer

W&W%‘&MW/LW

OPERATING INSTRUCTIONS
MODE D’EMPLOI
BEDIENUNGSANLEITUNG
ISTRUZIONI PER L'USO
HANDLEIDING

MANUAL DE INSTRUCCIONES
1R EFH

MHCTPYKLUMM MO 3KCMNAYATALMM

PDP-562

KURO

SPEAKER SYSTEM
ENCEINTE ACOUSTIQUE
LAUTSPRECHERSYSTEM

SISTEMA DI DIFFUSORI
LUIDSPREKERSYSTEEM
SISTEMA DE ALTAVOGES
BE BRI

AKYCTUHECKAA CUCTEMA

Download from Www.Somanuals.com. All Manuals Search And Download.



English

Thank you for buying this Pioneer product.

Please read through these operating instructions before
using your speaker system so you will know how to make
the most of its performance. After you have finished reading
the instructions, put them away in a safe place for future
reference.

CAUTION

About compatibility

This product is designed exclusively for use with the Pioneer
flat screen TV. For more information on compatibility, please
consult with your nearest Pioneer authorized dealer or
service center.

About installation and setting

* Do not move the flat screen TV by holding these speakers
or speaker brackets. This could result in injury or damage
to the brackets. When moving the TV, hold by the top and
handles.

When installing the speaker, do not use any screws other
than those supplied, otherwise the speaker may come off
from the main unit and fall over.

When installing the speaker, tighten the screws firmly.
Please handle the speaker with sufficient care, as the
grille net and the cabinet can become damaged or broken
when they are subjected to strong external impacts.
Placing a CRT computer screen or CRT monitor near to
the speaker may result in interference or color distortion.
If this happens, distance the monitor from the speaker.

About the input

e In order to prevent damage to the speaker system
resulting from input overload, please observe the
following precautions:

Do not connect these speakers to anything other than the
specified flat screen TV. Doing so may result in damage
or fire.

Be sure to turn the connected devices off and remove
the power cord from the wall outlet beforehand when
changing the connection or installation method.

When using a tone control function to greatly emphasize
treble sounds, do not use excessive amplifier volume.

CHECKING THE ACCESSORIES

o Speaker Cables x 2

¢ Speaker Mounting Screws
(M5 x 10 mm : Black) x 16

¢ Operating Instructions

Installation

* Consult your dealer if you encounter any difficulties
with this installation.

* Pioneer is not liable for any damage resulting from
improper installation, improper use, modification, or
natural disasters.

2 Download from Www.Somanuals.com. All Manuals Search And Download.



English

INSTALLATION ON THE FLAT SCREEN TV

Speaker bracket

Flat screen TV with the speaker installed

Speaker mounting
screw (M5 x 10 mm)

Speaker mounting
screw (M5 x 10 mm)

Speaker bracket

(for TOP-Right)

Speaker mounting
screw (M5 x 10 mm)

Speaker —

Speaker bracket
(for BOTTOM-Right)

Speaker mounting o

)

®

screw (M5 x 10 mm)

o Speaker mounting
° screw (M5 x 10 mm

(for TOP-Left)

Speaker mounting
screw (M5 x 10 mm)

—— Speaker

Speaker bracket
(for BOTTOM-Left)

Speaker mounting
screw (M5 x 10 mm)

[©)
0 i UDUS%S 0 LL:‘)
00,
ﬁ : @ﬁN”
e 9 == =
[ I . o [
Speaker cable
Cable clamp* Cable clamp* Cable clamp*

Speaker mounting
screw (M5 x 10 mm)

*: Accessories of the flat screen TV

When using the table top stand:

NOTE:

Before attaching the speaker, please attach the KRP-TS02 series table top stand (or another Pioneer flat screen TV stand) to the flat

screen TV.

1. Attaching the Speaker Brackets to the Speakers.
There are top and bottom speaker brackets for both the left and the right speaker. Attach the appropriate brackets to the top
and the bottom on the back of the speakers using the supplied screws.
(It shows the attachment of the bracket on the right side. It is attached on the left side by the same procedure.)

the top.)

Speaker bracket
(For BOTTOM-Right)

Speaker bracket (For TOP-Right)
(The skinny slot is used for mounting to

Screw holes

Screw holes

Speaker bracket

(For BOTTOM-Right)

Speaker bracket
(For TOP-Right)

Place the speaker so its
terminals (bottom) are
facing you.

Download from Www.Somanuals.com. All Manuals Search And Download.



English

2. Screw an supplied screw into the
speaker mounting hole (lower of the
two) at the top, rear of the flat screen
TV.

Do not tighten it all the way yet. Leave it loose, with
about 5 mm left to tighten.

/i

Speaker
Mounting Top, rear of
Hole \g flat screen TV
/®
4 N\
Q Top of flat screen TV
/ 5mm
Q —
'% ®
\_ Leave a space of about 5 mm)

3. Hang the speaker bracket on the
screw you installed at the top by
passing the wide part over it and
lowering into the slot; screw in the
lower screw temporarily.

After passing the wide part of the hole of the speaker
bracket (top) over the screw, lower the speaker onto it.

After passing the
wide part of the
hole over the screw,
lower the speaker.

Tighten with the provided
screw the bottom speaker
bracket to the flat screen
TV temporarily (one place

bottom). <A @
PN
‘ e -
%\\\

4. Adjust the position of the speaker
and then tighten the upper and lower
screws firmly.

5. Tighten the two screws, at the top
and bottom for each speaker (total of
four screws), thus fixing the speakers
to the flat screen TV.

ki
S

6. Pass the supplied speaker cable
between the speaker and the flat
screen TV (below the speaker bracket)
from below.

7. Connect the speaker cables to the
speaker (see next page).

8. Insert the cable in the groove on the
speaker.

Speaker Cable /

\ Speaker Terminal

Insertion in

9. Connect the other end of the speaker
cables to the rear of flat screen TV (see
next page).

Download from Www.Somanuals.com. All Manuals Search And Download.



English

( ) (

Connecting the speaker Connecting the speaker cables
cables to the speaker. to the rear of flat screen TV.
Black Gray Gray Black Gray

O

|
=

—PP
N HEYSELRNE
Black © Red @ v \

Red Black Red
Connect the cables correctly with Connect the cables correctly with respect to the
respect to the polarity of the speaker polarity of the flat screen TV speaker terminals,

terminals, that is, @ cable (Gray) to ®
terminals (Red) and @ cable (Black)
to @ terminals (Black).

that is, ® cable (Gray) to @ terminals (Red)
and @ cable (Black) to © terminals (Black).

\§ J
Speaker terminal
LL
(
U
o
ERR:; @ 9
,‘ke
\ ° o
Speaker terminal Speaker terminal
Speaker cable
For illustrative purposes, the table top stand is not presented here.
) 4 NOTE:
e Press the lever and insert the end of e Ifthere is a short in the @ and @ cables caused by an
the cable. ﬁ exposed lead wire, excessive load may be applied to
* When you release the lever, it clamps the flat screen TV, resulting in interrupted operation or
onto the speaker cable. } malfunction.
* Incorrect connections of the speaker cable to the right
ACaution or left of the flat screen TV terminals with respect to the

« Be sure to turn the connected devices off and remove polarity may result in insufficient stereo sound effects,
the power cord from the wall outlet beforehand when delivering poor bass sounds or unstable sound image.
changing the connection or installation method. * Bundle the cable without pulling.

e If you insert the speaker cable too far so
that the insulation is touching the speaker O

terminal, you may not get any sound. Please

insert it with showing the copper wire.

Check if the end of the speaker cables are

securely connected to the terminals by X

slightly tugging on the cable after making

connections. Loose connections may result

in sound dropouts or noise.

Download from Www.Somanuals.com. All Manuals Search And Download. 5




English

10. Bundling the cables.
Follow the steps below to attach a cable clamp.

1) Thread the clamp band through the holder and
bundle the cable(s) in the cable clamp.

2) Push and hold the levers then insert the hook into
an appropriate hole on the rear of the flat screen TV,

3) Pull up the clamp band to lock.

NG

4) Confirm that the cable clamp is seated firmly in the
panel.

NOTE:

Avoid pinching or creating pressure points when routing
or bundling cables.

To remove the clamp band, pull and hold the latch to
release.

To remove the cable clamp, push and hold the levers
then pull it out from the hole.

Latch

NOTE:

The longer a clamp is in place, the better chance of
deterioration. An older clamp is more easily damaged
while being removed and may not be reusable.

V¥ Rear of flat screen TV

Cable clamp

Cable clamp Cable clamp

Speaker cable

When using the hung on
wall unit:

) A NOTE:

First lay the flat screen TV on top of a soft sheet etc., then
attach the speakers.

1. Attach the speakers to the flat screen
TV (See procedures 1 to 10 on pages
3 to 6).

Connect the other cables and power cord to the flat
screen TV.

2. Place the flat screen TV on the
mounting fittings of the hung on
wall unit.

For details, refer to the operating instructions supplied
with the hung on wall unit.
Caution

Do not lift up the flat screen TV by the speakers.
A speakers may come off, so hold it by the bottom.

Download from Www.Somanuals.com. All Manuals Search And Download.



English

CABINET MAINTENANCE

Use a polishing cloth or dry cloth to wipe off dust and dirt.
When the cabinet is very dirty, wipe with a soft cloth
moistened with water-diluted cleanser; then wipe again
with a dry cloth. Do not use furniture wax or cleaners.
They may damage the surface of the cabinet.

Never use thinner, benzine, insecticide sprays and other
chemicals on or near the cabinets, since these will
corrode the surfaces.

When a chemical cloth is used, read the cautions for the
chemical cloth carefully.

SPECIFICATIONS

Cabinet ..o Bass-reflex type
Used speaker (two-way system):
Woofer (for low tones) ............ 6.6 cm x 10.6 cm cone type
Tweeter (for high tones)........ccoevnn. 2.5 cm semidome type
IMPEAANCE 1viviiie s

Frequency Range......
Sensitivity (1 m, 1 W)
Permissible input :

MaX. INPUL Lo 18W
Rated iINPUL oo 6W
CroSsSover freQUENCY ...vvviiiiiiiisss s 4 kHz

External Dimensions
............................... 105 (W) mm x 723 (H) mm x 66 (D) mm
Weight :
Speaker (0Ne PIBCE) ...t 1.65 kg
Speakers (pair) with cables, brackets and screws.... 3.6 kg
Accessory parts (for two speakers)
................................................................. Speaker Cables x 2
................................................................... Speaker Brackets
TOP-Left x 1
BOTTOM-Left x 1
TOP-Right x 1
BOTTOM-Right x 1
.................... Speaker Mounting Screws (M5 x 10 mm) x 16
..................................................... Operating Instructions x 1

NOTE:
Specifications and design subject to possible modification
without notice, due to improvements.

MODEL NO.

IMPORTANT NOTICE - RECORD THE MODEL NUMBER AND SERIAL NUMBERS OF THIS EQUIPMENT BELOW.
THE NUMBERS ARE ON THE REAR.

SERIAL NO.

KEEP THESE NUMBERS FOR FUTURE USE.

D1-4-2-6-2_En

E If you want to dispose this product, do not mix it with general household waste. There is a separate collection system for used
electronic products in accordance with legislation that requires proper treatment, recovery and recycling.
]

Private households in the member states of the EU, in Switzerland and Norway may return their used electronic products free of charge to
designated collection facilities or to a retailer (if you purchase a similar new one).

For countries not mentioned above, please contact your local authorities for the correct method of disposal.

By doing so you will ensure that your disposed product undergoes the necessary treatment, recovery and recycling and thus prevent potential

negative effects on the environment and human health.

KO058_A_En

Published by Pioneer Corporation.
Copyright © 2008 Pioneer Corporation.
All rights reserved.

Download from Www.Somanuals.com. All Manuals Search And Download.




Francais

Merci pour votre achat de cet appareil Pioneer.

Veuillez lire attentivement la totalite de ce mode d’emploi
avant d'utiliser vos enceintes acoustiques de fagon a
pouvoir en tirer le meilleur profit. Aprés lecture complete du
livret d'instructions de fonctionnement, le ranger dans un
endroit sGr afin de pouvoir vous y reporter facilement en cas
de besoin lors de I'utilisation des I'enceintes acoustiques.

ATTENTION

A propos de la compatibilité

Ce produit a été congu exclusivement en vue d'une
utilisation avec le téléviseur a écran plat Pioneer. Pour de
plus amples informations sur la compatibilité, veuillez vous
adresser au distributeur ou au centre de service Pioneer
agréé le plus proche.

A propos de I'installation et des réglages

* Ne déplacez pas le téléviseur a écran plat en le tenant par
les enceintes ou les supports d'enceinte. Vous risqueriez
de vous blesser ou d'endommager les supports. Pour
déplacer le téléviseur, tenez-le par le haut et par les
poignées.

2

A l'installation des enceintes, utilisez uniguement les vis
fournies, car d'autres pourraient se détacher de I'unité
principale et entrainer la chute des enceintes.

A l'installation des enceintes, serrez les vis a fond.
Manipuler les enceintes avec suffisamment de soin, car
autrement, I'enjoliveur frontal et le coffret risqueraient d’
étre endommagés ou hors d'usage en les soumettant a
des chocs externes exagérés.

e La présence d'un écran d'ordinateur ou d'un moniteur a
tube cathodique pres des enceintes peut provoquer des
interférences et une distorsion des couleurs. Si c'est le
cas, éloignez I'écran par rapport aux enceintes.

A propos de I’'entrée des signaux

* Afin d’éviter d'endommager les enceintes acoustiques,
suite a une surcharge a I'entrée, veuillez observer les
précautions suivantes:

* Ne raccordez pas ces enceintes a un appareil autre que le

téléviseur a écran plat spécifié. Faute de quoi, des dégéts,

voire un incendie pourraient en résulter.

Prenez soin de mettre hors tension les appareils

raccordés et de débrancher le cordon d'alimentation

au niveau de la prise secteur avant de changer les

connexions ou la méthode d'installation.

Sivous utilisez une fonction de contréle des tonalités

pour accentuer fortement les aigus, n'élevez pas

excessivement le volume sonore.

VERIFICATION DES
ACCESSOIRES

* Cébles de I'enceinte x 2

¢ Supports de I'enceinte

(TOPR)

Angle inférieur droit
(BOTTOM R)

(TOP L)

Angle inférieur gauche
(BOTTOM L)

¢ Vis de montage de I'enceinte
(M5 x 10 mm : Noir) X 16

* Mode d'emploi

Installation

* En cas de difficultés, veuillez consulter votre revendeur.

e Pioneer ne saurait étre tenu responsable d'aucun
dommage résultant d'une installation ou d'une
utilisation incorrecte de ce produit, de sa modification

ou encore de catastrophes naturelles.

Download from Www.Somanuals.com. All Manuals Search And Download.




Francais

INSTALLATION SUR LE TELEVISEUR A ECRAN PLAT

Support de I'enceinte
(angle supérieur droit)

Vis de montage

Téléviseur a écran plat avec enceinte installée

de I'enceinte (M5 x 10 mm)

Vis de montage
de I'enceinte (M5 x 10 mm)

Support de I'enceinte
(angle supérieur gauche)

Vis de montage
de I'enceinte
(M5 x 10 mm)

Enceinte —

Support de I'enceinte
(angle inférieur droit)

Vis de montage

®

o

@

o

®

o

o

ol Jo ~

Vis de montage € Vis de montage
de I'enceinte H@ ) 5 ) de I'enceinte
(M5 x 10 mm) 5 OOO C (M5 x 10 mm)

g o0 e O

O[] = e [ 075
g T == ==
| L ° [ Vis de montage

Vis de montage
de I'enceinte
(M5 x 10 mm)

— Enceinte

Support de I'enceinte
(angle inférieur gauche)

de I'enceinte
(M5 x 10 mm)

Collier pour cables*

Céble d'enceinte

Collier pour cables*

Collier pour cables*

de I'enceinte
(M5 x 10 mm)

*: Accessoires du téléviseur & écran plat

Si vous utilisez un pied de table :

REMARQUE :

Avant de poser I'enceinte, fixez le pied de table série KRP-TS02 (ou un autre pied de table de téléviseur a écran plat Pioneer) au

téléviseur a écran plat.

1. Fixer les supports d’enceinte sur les enceintes.
ll'y a un support de fixation inférieur et un support inférieure pour I'enceint gauche et pour I'enceinte droite. Posez les bons
supports en haut et en bas au dos des enceintes a 'aide des vis fournies.
(Lillustration montre la pose des supports de droite. Pour les supports de gauche, procédez de la méme facon.)

Support de I'enceinte
(angle supérieur droit)

(La petite fente est utilisée pour le montage
sur le dessus.)

Support de I'enceinte
(angle inférieur droit)

Trous de vis

Trous de vis

Support de I'enceinte |
(angle inférieur droit)

en face de vous.

Support de I'enceinte
(angle supérieur droit)

Placez I'enceinte de fagon a
avoir ses bornes (dessous)

Download from Www.Somanuals.com. All Manuals Search And Download.

Frangais.



Francais

2. Vissez une vis fournie dans le trou

de montage de I’enceinte (le plus bas
des deux) situé en haut au dos du
téléviseur a écran plat.

Ne la serrez pas completement tout de suite. Laissez du
jeu, arrétez-vous a environ 5 mm de la fin.

Trou de \

montage de\ Angle supérieur arriere
) ‘ o L N
I'enceinte o du téléviseur a écran plat
®
e N
Haut du téléviseur
Q a écran plat

R
0

Vs

Laissez un espace d'environ 5 mm

- J

3. Suspendez le support de I'enceinte

sur la vis que vous avez installée en
haut en passant la partie large par-
dessus la vis puis baissez le support
dans la fente et vissez la vis du bas

provisoirement.

Une fois que vous avez passé la partie large du trou du
support de I'enceinte (haut) par-dessus la vis, baissez
I'enceinte.

9

Une fois que vous

avez passé la partie Aﬁ /4

large du trou du
support sur la vis,
baissez I'enceinte. RN

A l'aide de la vis fournie,

fixez provisoirement le

support d'enceinte

inférieur sur le téléviseur

a écran plat (un endroit

en bas). @

5

. Ajustez la position de I’'enceinte puis

serrez complétement les vis du haut
et du bas.

. Serrez les deux vis, I'une en haut et

I'autre en bas, pour chaque enceinte
(total de quatre vis). C'est ainsi

que vous fixez les enceintes sur le
téléviseur a écran plat.

p X

=]

R [
|

. Passez le cable d’enceinte fourni

entre I'enceinte et le téléviseur a
écran plat (en dessous du support de
I'enceinte) en passant par le dessous.

. Branchez les cables d’enceinte sur les

enceintes (voir page suivante).

. Insérez le cable dans la rainure située

sur I'enceinte.

Céble d'enceinte

\ Borne d'enceinte

Insertion
dans la
rainure

. Branchez I'autre extrémité des cables

d’enceinte a I'arriére du téléviseur a
écran plat (voir page suivante).

10

Download from Www.Somanuals.com. All Manuals Search And Download.



P
Branchement des cables
d’enceinte sur I’'enceinte.

Noir Gris
Y

Rouge @

Branchez les cébles correctement en
respectant la polarité des bornes
d'enceintes, c'est & dire le cable @ (gris)
sur les bornes @ (rouge) et le cable @
(noir) sur les bornes @ (noir).

Noir ©

Borne d’enceinte

Francais

<
Brancher les cables d’enceinte a
I'arriere du téléviseur a écran

plat.
Grls Now Grls

Rouge Now Rouge
Branchez les cables correctement en
respectant la polarité des bornes d’enceintes
du téléviseur a écran plat, c'est a dire le cable
@® (gris) sur les bornes @ (rouge) et le cable ©
(noir) sur les bornes © (noir).

J

o
1N
— )

Borne d'enceinte

Borne d'enceinte

Céble d'enceinte

Pour plus de clarté, le pied de table n'est pas représenté ici.

) 4 REMIARQUE :
e Appuyez sur le levier et insérez

lextrémité du cable. ﬁ
* Quand vous relachez le levier, il se

resserre autour du cable d'enceinte. }
AAttention

e Pensez a mettre les appareils hors tension et a retirer
le cordon d'alimentation de la prise murale avant de
modifier les branchements ou I'installation.

* Si vous poussez le cable d’enceinte trop

loin et que l'isolant est en contact avec la

borne d'enceinte, il est possible que vous

n'obteniez aucun son. Une fois le cable

inséré, vous devez toujours pouvoir voir le fil

de cuivre. X

Vérifiez que les extrémités des cables

d’enceinte sont bien branchées sur les

bornes en tirant légerement sur le cable

une fois les branchements effectués. Des

céables mal raccordés peuvent entrainer des

interruptions du son ou du bruit.

e En cas de court-circuit dans les cables @ et © en raison
d'un fil de sortie exposé, le téléviseur a écran plat risque
de recevoir une charge excessive, ce qui provoguerait un
arrét de son fonctionnement ou des dysfonctionnements.

* Une erreur de polarité dans le raccordement du céble de
I'enceinte sur les bornes droite ou gauche du téléviseur
a écran plat peut se traduire par des effets stéréo
insuffisants, des basses de mauvaise qualité ou une
image sonore instable.

* Rassemblez les cables sans les tirer.

Download from Www.Somanuals.com. All Manuals Search And Download.

11

Frangais.



Francais

10. Relier les cables.

Suivez les étapes suivantes pour poser un collier pour

cables.

1) Passez la languette du collier dans le support et
placez le ou les cébles dans le collier pour cébles.

2) Poussez et retenez les leviers puis insérez le crochet
dans un trou adapté au dos du téléviseur a écran
plat.

3) Tirez la languette du collier pour bloquer les cébles.

0.8

4) Veérifiez que le collier pour cables est bien installé
contre le panneau.

REMARQUE H

Evitez de pincer ou de créer des points de pression sur les
cables lorsque vous les posez ou que vous les reliez.

Pour retirez la languette du collier, tirez le taquet pour
dégager le tout.

Pour retirez le collier pour cables, poussez les leviers
puis retirez-les du trou.

Taquet
Levier
\
C‘@—
Levier
REMARQUE :

Plus un collier reste longtemps en place, plus il risque de
se détériorer. Les vieux colliers ont tendance a s’abimer
plus facilement lors de la dépose et vous risquez de ne
pas pouvoir les réutiliser.

V¥ Arriere du televwseur aécran p\at

W=

DDDOOOD

]

i

Collier pour
cables

Collier pour Collier pour

cébles cables  caple d'enceinte

En cas d'utilisation de I'unité
d’installation murale :

Vs d REMARQUE :

Tout d’abord, couchez le téléviseur a écran plat sur sa face
avant sur un morceau de tissu doux etc., puis installez les
enceintes.

1. Fixez les enceintes sur téléviseur a
écran plat (voir les procédures 1 a 10,
pages 9 a 12).

Branchez les autres cébles et le cordon d'alimentation
sur le téléviseur a écran plat.

2. Placez le téléviseur a écran plat sur
les ferrures de fixation de I’écran
mural.

Pour de plus amples informations, reportez-vous aux
instructions d'utilisation fournies avec I'unité
d’'installation murale.

Attention

Ne soulevez pas le téléviseur a écran plat en le tenant par
les enceintes.

Les enceintes pourraient se détacher, alors tenez-le par le
dessous.

12 Download from Www.Somanuals.com. All Manuals Search And Download.



ENTRETIEN DU COFFRET

e Utiliser un chiffon a polir ou un chiffon sec pour essuyer
la poussiere et éliminer les salissures.

* Sile coffret est tres sale, le frotter avec un chiffon doux
imbibé de liquide a nettoyer dilué d'eau. Ensuite, essuyer
a nouveau avec un chiffon sec. Ne pas utiliser de cire
a meuble ou de produits de nettoyage corrosifs. Ils
risqueraient d’endommager la surface du coffret.

* Ne jamais utiliser non plus de diluant, de benzine,
d’'insecticides en vaporisateur et autres produits
chimiques sur le coffret ou a proximité, car ils risquent de
corroder les surfaces.

e Sil'on utilise un chiffon chimique, lire et observer
attentivement les précautions a prendre pour son usage
adéquat.

Francais

SPECIFICATIONS

Coffret i Type bass-reflex
Haut-parleurs utilisés (systeme a double voie) :
Haut-parleur de graves...Type & coéne de 6,6 cm X 10,6 cm

Haut-parleur d'aigus.............. Type & semi-déme de 2,5 cm
IMPEANCE i 6Q
Plage de fréquences ... 60 Hz & 30 000 Hz
Sensibilité (1M, TW) s 80 dB
Entrée admissible :

ENrée MaX. oo 18W

Entrée nominale ........c..c.......
Fréquence de recouvrement

Encombrement

.............................. 105 (L) mm x 723 (H) mm x 66 (P) mm
Poids :

Enceinte (UNe PIECE) .iiivviiiiiiiiiiiiiee e 1,55 kg

Enceintes (la paire) avec cébles, supports et vis...... 3,6 kg
Pieces accessoires (Pour deux enceintes)

............................................................... Céble d'enceinte x 2

,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,, Supports de I'enceinte

Angle supérieur gauche (TOP L) x 1

Angle inférieur gauche (BOTTOM L) x 1

Angle supérieur droit (TOP R) x 1

Angle inférieur droit (BOTTOM R) x 1

................ Vis de montage de I'enceinte (M5 x 10 mm) x 16

.................................................................. Mode d‘emploi x 1

REMARQUE:
Les spécifications et la finition sont susceptibles d’étre
modifiées sans préavis en vue de I'amélioration.

N° MODELE :
N° SERIE :

AVIS IMPORTANT - VEUILLEZ REPORTER CI-DESSOUS LES NUMEROS DE MODELE ET DE SERIE DE LEQUIPEMENT.
CES NUMEROS APPARAISSENT A LARRIERE.

VEUILLEZ CONSERVER CES NUMEROS EN VUE DE FUTURES UTILISATIONS.

E Si vous souhaitez vous débarrasser de cet appareil, ne le mettez pas a la poubelle avec vos ordures ménageres. Il existe un systeme de
collecte séparé pour les appareils électroniques usagés, qui doivent étre récupérés, traités et recyclés conformément & la législation.

Les habitants des états membres de I'UE, de Suisse et de Norvege peuvent retourner gratuitement leurs appareils électroniques usagés aux
centres de collecte agréés ou a un détaillant (si vous rachetez un appareil similaire neuf).

Dans les pays qui ne sont pas mentionnés ci-dessus, veuillez contacter les autorités locales pour savoir comment vous pouvez vous débarrasser

de vos appareils.

Vous garantirez ainsi que les appareils dont vous vous débarrassez sont correctement récupérés, traités et recyclés et préviendrez de cette fagon

les impacts néfastes possibles sur I'environnement et la santé humaine.

K058 A Fr

Publication de Pioneer Corporation.
© 2008 Pioneer Corporation.
Tous droits de reproduction et de traduction réservés.

Download from Www.Somanuals.com. All Manuals Search And Download.

13

Frangais.



Deutsch

Wir danken Ihnen daftr, dass Sie sich fur ein Produkt von
Pioneer entschieden haben.

Bitte lesen Sie vor der Verwendung Ihrer Lautsprecheranlage
diese Anleitung aufmerksam durch, um die Vorzige des
Systems optimal ausnitzen zu kénnen. Nachdem Sie die
Bedienungsanleitung durchgelesen haben, bewahren Sie
sie sorgfaltig auf, um sich im Bedarfsfall jederzeit darauf
beziehen zu kénnen.

VORSICHT

Hinweis zur Kompatibilitit

Dieses Produkt ist ausschlieBlich flir den Gebrauch mit
dem Flachbildfernseher von Pioneer bestimmt. Weitere
Informationen zur Kompatibilitét bringen Sie bitte bei
Ihrem autorisierten Pioneer-Handler oder einer Pioneer-
Kundendienststelle in Erfahrung.

Hinweise zur Installation und Einstellung

* Bewegen Sie den Flachbildfernseher nicht fort, indem
sie ihn am Lautsprecher oder an den Lautsprecher-
Halterungen festhalten. Das kann zu Verletzungen oder
zu Schéaden an den Montageelementen flihren. Halten
Sie den Fernseher beim Fortbewegen oben und an den
Handgriffen fest.

e @

F—
s /:/@

* Verwenden Sie zur Installation ausschlieBlich die
Schrauben im Lieferumfang. Anderenfalls kann sich
der Lautsprecher vom Flachbildfernseher [6sen und
herunterfallen.

* Achten Sie bei der Installation des Lautsprechers darauf,

die Schrauben fest anzuziehen.

Die Lautsprecher sind vorsichtig zu behandeln, da Ziergitter

und Gehause durch starke StoBe und Erschutterungen

verkratzt oder beschadigt werden kénnen.

* Wenn ein CRT-Computer-Monitor oder ein CRT-Monitor
in der Nahe des Lautsprechers aufgestellt wird, kann
dies Bildrauschen oder Farbstérungen verursachen. In
einem solchen Fall muss fur einen groBeren Abstand des
Monitors vom Lautsprecher gesorgt werden.

Hinweise zum Eingang

e Um eine Beschéadigung des Lautsprechersystems durch

ein zu starkes Eingangssignal zu vermeiden, mussen die

folgenden Hinweise unbedingt beachtet werden:

SchlieBen Sie diese Lautsprecher an nichts anderes

als den angegebenen Flachbildfernseher an. Wird der

Lautsprecher in Verbindung mit irgendeinem anderen

Geréat verwendet, besteht die Gefahr von Beschadigung

und Brandausbruch.

* Achten Sie unbedingt darauf, alle angeschlossenen
Gerate auszuschalten und den Netzstecker von der
Netzsteckdose zu trennen, bevor die Anschlisse gedndert
werden oder die Installation verandert wird.

* Bei Verwendung der Klangfarbenregelungs-Funktion
eines Verstérkers zu einer starken Anhebung der Héhen
darf die Lautstérke am Verstarker nicht auf einen
UbermaBig hohen Pegel eingestellt werden.

PRUFEN DES ZUBEHORS

e Lautsprecherkabel x 2

e Lautsprecher-Halterungen

Fur oben rechts
(TOP R)

Flr unten rechts
(BOTTOM R)

(TOP L)

Far unten links
(BOTTOM L)

¢ lautsprecher-Montageschrauben
(M5 X 10 mm : schwarz) x 16

¢ Bedienungsanleitung

Installation

* Wenn es bei dieser Installation zu Problemen kommen
sollte, wenden Sie sich bitte an Ihren Handler.

* Pioneer haftet flr keinerlei Schaden, die sich auf
falsche Installation, unsachgemafBen Gebrauch,
Modifikationen oder Naturkatastrophen zurtckfihren
lassen.

14

Download from Www.Somanuals.com. All Manuals Search And Download.




INSTALLATION AM FLACHBILDFERNSEHER

Deutsch

Lautsprecher-
Halterung

Flachbildfernseher mit dem installierten Lautsprecher

Lautsprecher-
Montageschraube (M5 x 10 mm)

Lautsprecher-
Montageschraube (M5 x 10 mm)

Lautsprecher-
Halterung

(fr oben rechts)

(fur oben links)

3% X
N ﬁ
Laut: h
Lautsprecher- autsprecher-
Montageschraube o o Montageschraube
(M5 x 10 mm) (M5 x 10 mm)
Lautsprecher — o o — Lautsprecher
[[ ]] ©® ~
Lautsprecher- Lautsprecher- Lautsprecher-
H ’ Montageschraube o ( ) Montageschraube Lautsprecher-
alterung o ) ) o)
(fiir unten rechts) (M8 x 10 mm) =& g U o (M5 10 mm) Halterung
© UDU§§8D © D (fur unten links)
B8 il ) N

Lautsprecher- [ ° ° Lautsprecher-
Montageschraube Montageschraube
(M5 x 10 mm) (M5 x 10 mm)

Lautsprecherkabel

Kabelhalterung*® Kabelhalterung*® Kabelhalterung*®

*: Zubehor des Flachbildfernsehers
Bei Verwendung des Tischstanders:

Vs d HINVVEIS:

Bitte bringen Sie vor der Montage des Lautsprechers den Tischstéander der Serie KRP-TS02 (oder einen anderen Stander fur einen
Pioneer-Flachbildfernseher) an.

1. Anbringen der Lautsprecher-Halterungen an den Lautsprechern.
Es gibt obere und untere Lautsprecher-Halterungen fur den linken und rechten Lautsprecher. Befestigen Sie die jeweils
vorgesehenen Halterungen unter Verwendung der mitgelieferten Schrauben oben und unten an der Rickseite der
Lautsprecher.
(Die Abbildung zeigt die Befestigung der Halterung an der rechten Seite. Auf die gleiche Weise erfolgt die Befestigung auf
der linken Seite.)

Schraublocher

Lautsprecher-Halterung (fir oben rechts)
(Der duinne, schlitzformige Teil wird fur die
Montage oben verwendet.)

Lautsprecher-
Halterung
(fir oben rechts)

Lautsprecher-Halterung

(fUr unten rechts) Schraublécher

Lautsprecher-Halterung
(fur unten rechts)

Positionieren Sie den
Lautsprecher so, dass seine
KabelanschlUsse (unten)
auf Sie gerichtet sind.

15

Download from Www.Somanuals.com. All Manuals Search And Download.

Deutsch .



Deutsch

2. Schrauben Sie eine mitgelieferte 4. Richten Sie die Position des

Schraube in das Montage- Lautsprechers aus und ziehen Sie
Schraubloch (das untere der zwei dann die obere und die untere
Schraublocher) oben an der Riickseite Schraube fest.
des Flachbildfernsehers. 5. Ziehen Sie die zwei Schrauben oben
Ziehen Sie die Schraube noch nicht fest, sondern lassen und unten an jedem Lautsprecher
Sie noch etwa 5 mm Zwischenraum. . .

(insgesamt vier Schrauben) fest und
Lautsprecher- \ fixieren Sie die Lautsprecher auf diese

Montageschraubloch Weise am Flachbildfernseher.

—1 Oben, RUckseite des
/Q Flachbildfernsehers
o

é Oberer Teil des ) 3
Q Flachbildfernsehers Al
5mm
2
& e
Lassen Sie einen Zwischenraum
\_ von etwa 5 mm Y,
3. Hangen Sie die Lautsprecher- @TQ
Halterung an die Schraube. die Sie g i
oben installiert haben, indem Sie den o H
weiten Bereich der Offnung hindurch-
stecken und das Element dann in 6. Fiihren Sie das mitgelieferte
den Schlitz absenken. Schrauben Sie Lautsprecherkabel zwischen
anschlieBend die untere Schraube dem Lautsprecher und dem
provisorisch ein. Flachbildfernseher (unter der
Senken Sie nach dem Hindurchstecken des Lautsprecher-Halterung) von unten
weiten Bereichs der Offnung des Lautsprecher- durch.
Befestigungselements (oben) durch die Schraube den i . .
Lautsprecher auf diese ab. 7. SchlieBen Sie die Lautsprecherkabel

an den jeweiligen Lautsprecher an
(siehe nachste Seite).

8. Fiihren Sie das jeweilige Kabel in
die am betreffenden Lautsprecher
befindliche Nut ein.

Senken Sie den
Lautsprecher auf
die Schraube ab,
nachdem Sie den
weiten Teil der
Offnung der
Halterung Uber die
Schraube hinwe-
ggefuhrt haben.

Lautsprecher- Kabe\

Lautsprecheranschluss

Einfihrung
in die Nut

Befestigen Sie mit der
vorgesehenen Schraube
die untere Lautsprecher-
Halterung provisorisch
am Flachbildfernseher
(ein Position unten).

9. SchlieBen Sie das andere Ende der
r Lautsprecherkabel an die Riickseite
{ des Flachbildfernsehers an (siehe

nachste Seite).

8%

16 Download from Www.Somanuals.com. All Manuals Search And Download.



( N\
AnschlieBen der Lautspre-
cherkabel am Lautsprecher.

Schwarz Grau
’\—/‘
Schwarz @ Rot ®

SchlieBen Sie die Kabel hinsichtlich ihrer
Polaritat richtig an die Lautsprecher-
Anschlussklemmen an, das heif3t, das ®
-Kabel (Grau) an die ®@-Anschlussklem-
men (Rot) und das @-Kabel (Schwarz)
\an die ©-Anschlussklemmen (Schwarz).

Deutsch

Vs

L emmen (Schwarz).

N
AnschlieBen der Lautspre-

cherkabel an die Riickseite des
Flachbildfernsehers.

s
CTERE

SchlieBen Sie die Kabel hinsichtlich ihrer
Polaritat richtig an die Lautsprecher-
Anschlussklemmen an, das heit, das @-Kabel
(Grau) an die ®-Anschlussklemmen (Rot) und
das @-Kabel (Schwarz) an die @-Anschlusskl-

Lautsprecheranschluss

Lautsprecherkabel

Lautsprecheranschluss

Zum besseren Verstéandnis ist der Tischstander hier nicht dargestellt.

Vs HINVWEIS:

* Driicken Sie den Hebel und fiihren ﬁ‘

Sie das Kabelende ein.

* Beim anschlieBenden Loslassen des k
Hebels wird das Lautsprecherkabel }
festgeklemmt.

VORSICHT

» Achten Sie, bevor Sie die Anschllsse oder die
Installationsweise der angeschlossenen Geréte éndern,
unbedingt darauf, dass die Geréate ausgeschaltet sind und
der Stromstecker aus der Steckdose gezogen worden ist.

* Wenn Sie das Lautsprecherkabel zu O
weit einfGhren, so dass die Isolation den
Lautsprecheranschluss berthrt, kann es
sein, dass kein Ton zu horen ist. Fuhren
Sie daher das Kabel so ein, dass der
Kupferdraht zu sehen ist. X

Prifen Sie, nachdem Sie die Lautsprecherkabel
angeschlossen haben, ob die Enden dieser Kabel richtig
an den Anschlissen befestigt sind, indem Sie leicht an
den Kabeln ziehen. Lose Anschlisse kénnen Tonausfall
oder Gerausche zur Folge haben.

Wenn es, verursacht durch einen freiliegenden Draht,
einen Kurzschluss im @-Kabel oder im ©-Kabel, kann es
zu Uberspannungen am Flachbildfernseher kommen, was
zu einem unterbrochenen Betrieb oder zu fehlerhaften
Funktionen fuhren kann.

Falsche AnschlUsse des Lautsprecherkabels an die rechte
oder linke Seite des Flachbildfernsehers hinsichtlich der
Polaritat konnen einen ungentigenden Stereoklang in der
Weise fuhren, dass die Basstone nur schwach sind oder
dass das Klangbild instabil ist.

Binden Sie das Kabel zusammen, ohne daran zu ziehen.

Download from Www.Somanuals.com. All Manuals Search And Download. 17

Deutsch .



Deutsch

10.Biindelung der Kabel.

Verfahren Sie wie nachfolgend beschrieben, um eine

Kabelhalterung anzubringen.

1) Ziehen Sie das Halterungsband durch die Halterung
und fixieren/btindeln Sie das/die Kabel in der
Kabelhalterung.

2) Dricken Sie den Hebel, halten Sie ihn gedriickt
und fuhren Sie dann den Haken in eine geeignete
Offnung an der Rickseite des Flachbildfernsehers

ein.
3) Ziehen Sie das Halterungsband fest.
]
0.8
Ny

4) Uberzeugen Sie sich, dass die Kabelhalterung fest
im Bedienfeld sitzt.

Vs 4 HINVVEIS:

Vermeiden Sie es, wenn Sie Kabel verlegen oder bindeln,
diese zusammenzudricken oder Druckpunkte zu schaffen.

Ziehen Sie zur Entfernung des Halterungsbandes die
Arretierung, um sie zu l6sen.

Dricken Sie zur Entfernung der Kabelhalterung die
Hebel, halten Sie sie gedruckt und ziehen Sie das Band
aus dem Loch.

Arretierung
Hebel

/
S
\
Hebel

HINWEIS:

Je ldnger eine Halterung angebracht ist, um so
wahrscheinlicher ist es, dass ihre Eigenschaften
schlechter werden. Eine éltere Halterung wird leichter
beschddigt, wenn sie entfernt wird, und kann dann
moglicherweise nicht wiederverwendet werden.

¥ Ruckseite des Flachbildfernsehers

| i &&=

‘
P
4 EE DUUUS%?

Kabelhalterung Kabelhalterung

Kabelhalterung
Lautsprecherkabel

Bei Verwendung der
Wandmontage-Einheit:

Vs 4 HINVVEIS:

Legen Sie zuerst den Flachbildfernseher auf eine weiche
Unterlage und montieren Sie dann die Lautsprecher.

1. Montieren Sie die Lautsprecher an
den Flachbildschirmfernseher (siehe
Schritte 1 - 10 auf den Seiten 15 -
18).

SchlieBen Sie die anderen Kabel und das Netzkabel an
die Ruckseite des Flachbildfernsehers an.

2. Platzieren Sie den Flachbildfernseher
an den Montageelementen der
Wandbefestigungseinheit.

Zu Einzelheiten siehe die mit der Wandmontage-Einheit
mitgelieferte Bedienungsanleitung.

VORSICHT

Heben Sie den Flachbildschirmfernseher nicht an den
Lautsprechern an.

Die Lautsprecher kénnten herunterfallen, und deshalb ist
der Fernseher unten zu halten.

18 Download from Www.Somanuals.com. All Manuals Search And Download.



PFLEGE DES GEHAUSES

Zum Abwischen von Staub und Verschmutzung kann ein
Poliertuch oder ein trockener Lappen verwendet werden.
Wenn das Gehause stark verschmutzt ist, kann es mit
einem weichen, mit verdiinntem Haushaltsreiniger
angefeuchteten Lappen gesaubert und dann mit einem
trockenen Lappen abgewischt werden. Keine Mobelpolitur
oder Reinigungsmittel verwenden, da diese Mittel die
Oberflache des Geh&uses beschéadigen kénnen.

Niemals Verdtnner, Benzol, Insektensprays oder andere
Chemikalien am oder in der N&he des Gehauses
verwenden, da hierdurch die Oberflache beschédigt wird.
Vor der Verwendung eines chemischen Reinigungstuchs
unbedingt die Vorsichtshinweise sorgfaltig durchlesen.

Deutsch

TECHNISCHE DATEN

GENAUSE vt Bassreflextyp
Verwendete Lautsprecher (Zweiweg-System):
Woofer (fur tiefe Frequenzen)
,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,, 6,6 cm x 10,6-cm-Konuslautsprecher
Hochtoner (fur hohe Frequenzen)

IMPEAANZ. 1o 6 Q
Frequenzgang ..o 60 Hz bis 30 000 Hz
Empfindlichkeit (1 m, TW) .o 80 dB
Zulassige Eingangswerte:
Maximaler Eingangswert ..o 18W
Nenn-EiNgangswWert ... 6W
UbergangsfreqUENZ .......o..evevreseoeescesveess s, 4 kHz

AuBere Abmessungen
.............................. 105 (B) mm x 723 (H) mm x 66 (T) mm

Gewicht:
Lautsprecher (ein einzelner) ..o, 1,55 kg
Lautsprecher (ein Paar) mit Kabeln,
Halterungen und Schrauben ..., 3,6 kg

Zubehorteile (fur zwei Lautsprecher)
............................................................ Lautsprecherkabel x 2
........................................... Lautsprecher-Montageelemente

oben links (TOP L) x 1

unten links (BOTTOM L) x 1

oben rechts (TOP R) x 1

unten rechts (BOTTOM R) x 1

........ Lautsprecher-Montageschrauben (M5 x 10 mm) x 16
....................................................... Bedienungsanleitung x 1

HINWEIS:

Die technischen Daten und das Design kénnen aus Grinden
der Weiterentwicklung jederzeit ohne vorherige Ankindigung
geéndert werden.

Wichtiger Hinweis!

Modellnummer:
Seriennummer:

— Notieren Sie unten die Modellnummer sowie die Seriennummer der Einheit. Sie finden
diese Nummern auf deren Rickseite.

Verwahren Sie diese Nummern fUr den Fall, dass Sie sie klinftig brauchen.

gemal der bestehenden Gesetzgebung gewéhrleistet wird.

Mischen Sie dieses Produkt, wenn Sie es entsorgen wollen, nicht mit gewdhnlichen Haushaltsabféllen. Es gibt ein getrenntes
Sammelsystem fur gebrauchte elektronische Produkte, Gber das die richtige Behandlung, Rickgewinnung und Wiederverwertung
|

Privathaushalte in den Mitgliedsstaaten der EU, in der Schweiz und in Norwegen konnen ihre gebrauchten elektronischen Produkte an
vorgesehenen Sammeleinrichtungen kostenfrei zurtickgeben oder aber an einen Handler zuriickgeben (wenn sie ein dhnliches neues Produkt

kaufen).

Bitte wenden Sie sich in den Landern, die oben nicht aufgeftihrt sind, hinsichtlich der korrekten Verfahrensweise der Entsorgung an die ortliche

Kommunalverwaltung.

Auf diese Weise stellen Sie sicher, dass das zu entsorgende Produkt der notwendigen Behandlung, Rickgewinnung und Wiederverwertung
unterzogen wird, und so mégliche negative Einflisse auf die Umwelt und die menschliche Gesundheit vermieden werden.

K058_A_Ge

Veroffentlicht von Pioneer Corporation.
Urheberrechtlich geschutzt © 2008 Pioneer Corporation.
Alle Rechte vorbehalten.

Download from Www.Somanuals.com. All Manuals Search And Download.

19

=
v
(9]
-
>
[}
(a]



Italiano

Grazie per avere acquistato questo prodotto Pioneer.
Leggere attentamente queste istruzioni per I'uso prima di
utilizzare il sistema di altoparlanti per avvalersi al massimo
delle sue prestazioni. Conservare poi il manuale in un luogo
sicuro per ogni eventuale futura necessita.

ATTENZIONE

Problemi di compatibilita

Questo prodotto € concepito esclusivamente per I'uso
con una TV Flat-Screen Pioneer. Per maggiori informazioni
sulla loro compatibilita al proprio schermo si raccomanda
di rivolgersi al pit vicino rivenditore o centro di riparazioni
Pioneer autorizzato.

Installazione ed impostazione

* Non spostate la TV Flat-Screen sollevandola dagli
altoparlanti o dai relativi supporti: potreste ferirvi o
danneggiare questi ultimi. Quando dovete spostare la TV,
sollevatela dall'alto afferrando le maniglie.

()

N
TR =

-
=

Per installare I'altoparlante, non usare alcuna vite che
non sia fra quelle in dotazione, o esso potrebbe staccarsi
e cadere.

Per fissare bene I'altoparlante, stringere sempre bene le
viti.

* Siprega di maneggiare con cura gli altoparlanti; la griglia
di schermo e la cassa esterna possono danneggiarsi o
rompersi se sottoposte a colpi esterni molto forti.

Se vicino all'altoparlante si trova un monitor televisivo
con tubo a raggi catodici, questo schermo puo subite
interferenze e mostrare aberrazioni cromatiche. Se questo
accade, allontanare il monitor dall'altoparlante.

L’ingresso di segnale

* Per evitare danni al sistema di altoparlanti dovuti a

un sovraccarico d'ingresso, osservare le seguenti

precauzioni:

Collegate questi altoparlanti esclusivamente alla TV Flat-

Screen specificata. In caso contrario, potreste provocare

danni o incendi.

* Prima di cambiare i collegamenti o il metodo di
installazione, non dimenticare di spegnere tutti i
dispositivi collegati e rimuoverne il cavo di collegamento.

e Se si usa una funzione di controllo dei toni per enfatizzare
molto gli acuti, non usare volume molto alti.

CONTROLLO DEGLI
ACCESSORI

e Cavi dell'altoparlante x 2

¢ Supporti dell’altoparlante

Per parte superiore destra
(TOP R)

Per parte inferiore destra
(BOTTOM R)

Per parte superiore sinistra
(TOP L)

Per parte inferiore sinistra
(BOTTOM L)

* Viti di montaggio per I'altoparlante
(M5 x 10 mm: nero) x 16

&

e |Istruzioni perl'uso

Installazione

* |n caso di difficolta con questa installazione rivolgetevi
al vostro rivenditore.

e Pioneer non accetta alcuna responsabilita per gli
eventuali danni causati da un’installazione non
corretta, da un uso non corretto, da modifiche
apportate o da distrastri naturali.

20

Download from Www.Somanuals.com. All Manuals Search And Download.



Italiano

INSTALLAZIONE DELLA TV FLAT-SCREEN

TV Flat-Screen con I'altoparlante installato

Vite di montaggio Vite di montaggio
Supporto , , Supporto
dellaltoparlante per I'altoparlante (M5 x 10 mm) per I'altoparlante (M5 x 10 mm) deH'a\topaHante‘
(per parte superiore (per parte superiore

destra)

sinistra)

Nl
pU—
Bz
Vite di montaggio Vite di montaggio
per |'altoparlante ° ° per l'altoparlante
(M5 x 10 mm) (M5 x 10 mm)
Altoparlante —— = o 11— Altoparlante
ol ‘ -
Supporto Vite di montaggio ( Vite di montaggio Supporto
dell'altoparlante per l'altoparlante == per l'altoparlante dell'altoparlante
(per parte inferiore (M5 x 10 mm) (M5 x 10 mm) (per parte inferiore

destra) sinistra)

B 5] = o L
0 000 e S
O aw || [ ATk
Vite di montaggio L = Vite di montaggio
per I'altoparlante per |'altoparlante
(M5 10 mm) Cavo dell'altoparlante (M x10 mm)
Morsetto del cavo®

Morsetto del cavo*® Morsetto del cavo*®

*: accessori della TV Flat-Screen

Per I'uso del supporto di tavolo:
NOTA:

Prima di collegare I'altoparlante, attaccate il supporto di tavolo della serie KRP-TS02 (o un altro supporto per TV Flat-Screen Pioneer)
alla TV Flat-Screen.

1. Fissaggio dei supporti agli altoparlanti.

Vi sono supporti superiori e inferiori per gli altoparlanti destro e sinistro. Fissate i supporti appropriati alla parte superiore e
inferiore del retro degli altoparlanti, usando le viti in dotazione.

(Mostra il fissaggio corretto del supporto sul lato destro. Viene fissato sul lato sinistro seguendo la stesso procedimento.)

Supporto dell’altoparlante Fori per le viti
(per parte superiore destra)
(La guida stretta e utilizzata per il

montaggio in alto. iglﬁ\)’z(\)tggarlante
Supporto (per parte

dell'altoparlante

superiore destra)
(per parte inferiore destra)

Fori per le viti

Supporto dell'altoparlante
(per parte inferiore destra)

———==><__ Posizionate gli altoparlanti
con i terminali (inferiori)
rivolti verso di voi.

Download from Www.Somanuals.com. All Manuals Search And Download. 21

Italiano.



Italiano

2. Stringete una delle viti in dotazione
nel foro di montaggio
dell’altoparlante (il piu basso dei due)
nella parte superiore del retro della
TV Flat-Screen.

Non stringete fino in fondo. Lasciate le viti allentate, con
ancora b5 mm circa da stringere.

Foro per il montaggio \

dell'altoparlante

~— Parte superiore del
/P retro della TV Flat-Screen
©

~N

Parte superiore della
TV Flat-Screen

3
N -
©

5 mm

Lasciate uno spazio di 5 mm circa

- J

3. Attaccate il supporto dell’altoparlante
alla vite che avete avvitato passando
la parte larga sopra di esso e
abbassandolo verso la scanalatura;
avvitatelo temporaneamente alla vite
piu bassa.
Dopo aver passato la parte larga del foro del supporto

dell'altoparlante (superiore) sopra la vite, abbassate
I'altoparlante su di essa.

Dopo aver passato
la parte larga del
foro sulla vite,
abbassate
I'altoparlante.

7/

Stringete temporaneamente
I'altoparlante inferiore con
la vite in dotazione al
supporto inferiore
dell'altoparlante

S

4. Regolate la posizione dell’
altoparlante, quindi stringete bene la
vite superiore e inferiore.

5. Stringete le due viti, nella parte
superiore e inferiore per ogni
altoparlante (quattro viti in totale)
e fissate cosi gli altoparlanti alla TV
Flat-Screen.

S

> g

6. Fate passare il cavo dell’altoparlante
in dotazione tra I'altoparlante e la TV
Flat-Screen (sotto il supporto
dell’altoparlante) dal basso.

7. Collegate i cavi dell’altoparlante
all’altoparlante (vedi pagina
successiva).

8. Inserite il cavo nella scanalatura
dell’altoparlante.

Cavo dell'altoparlante ~ Terminale /
dell’altoparlante

@/ Inserimento
nella scanalatura

9. Collegate l'altra estremita dei cavi
dell’altoparlante al retro della TV
Flat-Screen (vedi pagina seguente).

22

Download from Www.Somanuals.com. All Manuals Search And Download.



Italiano

( 4 )
Collegamento dei cavi Collegate i cavi dell’altoparlante
dell’altoparlante al retro della TV Flat-Screen.

all’altoparlante. . .
Grigio Nero Grigio
Nero Grigio

’\7 i\’_A—\/b
N e

Collegate i cavi correttamente, Collegate i cavi correttamente rispettando la
rispettando le polarita dei terminali polarita dei terminali degli altoparlanti della TV
dell’altoparlante, ciog il cavo ® Flat-Screen, vale a dire, cavo @ (grigio) con
(grigio) ai terminali @ (rosso) e il cavo terminali @ (rosso) e cavo © (nero) con

© ai terminali © (nero). terminali © (nero).

. J
Terminale dell'altoparlante //
\k J)
( )
O
[+ "
o GO0/
(] amp
i ]
‘ o o
Terminale dell'altoparlante , Terminale
Cavo dell'altoparlante dell'altoparlante
Per motivi di illustrazioni, il supporto di tavolo non e stato rappresentato qui.
Jx 4 NOTA:
¢ Premete la levetta e inserite e Se si verifica un cortocircuito tra i cavi @ e @ provocato
I'estremita del cavo. ﬁ da un filo di piombo scoperto, una carica eccessiva
) 33 .
« Una volta lasciata, la levetta blocca potrebbe essere applicata alla TV Flat-Screen, provocando
il cavo dell'altoparlante. un'interruzione delle operazioni o un guasto.
} * Collegamenti errati del cavo dell’altoparlante ai terminali
AAttenzione destro o sinistro della TV Flat-Screen rispetto alla polarita
« Assicuratevi di spegnere i dispositivi collegati e di possono tradursi in effetti stereofonici insufficienti, un
staccare la spina dalla presa a muro, prima di cambiare il livello dei bassi non soddisfacente o un'immagine sonora
metodo di collegamento o di installazione. instabile.
* Se il cavo dell'altoparlante viene inserito * Legate il cavo senza tirarlo.
troppo distante e il materiale isolante O

tocca il terminale dell'altoparlante, non

si ricevera alcun suono. Vi preghiamo di

inserirlo in modo tale che il filo di rame sia

visibile. X
Controllate che le estremita dei cavi

dell'altoparlante siano collegate

saldamente ai terminali, tirando

leggermente il cavo dopo aver effettuato i

collegamenti. In caso contrario, potrebbero

verificarsi interruzioni acustiche o rumore.

Download from Www.Somanuals.com. All Manuals Search And Download. 23

Italiano.



Italiano

10.

Legare i cavi.

Seguite i passaggi qui sotto per attaccare un morsetto

del cavo.

1) Infilate la banda del morsetto nella staffa di
supporto e legate il/i cavo(i) nel morsetto.

2) Spingete e tenete ferme le leve, quindi inserite il
gancio nell'apposito foro sul retro della TV Flat-
Screen.

3) Tirate verso I'alto la banda del morsetto per
chiuderlo.

NG

4) Assicuratevi che il morsetto del cavo sia ben saldato
al pannello.

Bwora:

Evitate di comprimere o esercitare pressione sui cavi
quando Ii posizionate o legate.

Per rimuovere la banda del morsetto, tirate e tenete
fermo il dispositivo di chiusura perché si sblocchi.
Per rimuovere il morsetto del cavo, spingete e tenete
ferme le leve, quindi estraetelo dal foro.

Dispositivo
di chiusura

NOTA:

Se un morsetto é stato installato da molto tempo, vi
saranno maggiori probabilita che si deteriori, Un morsetto
vecchio e pid facilmente danneggiabile mentre viene tolto
e non puo essere riutilizzato.

V¥ Retrodella TV F\at Screen

ﬁ; | uuug%ﬂ .

Morsetto del Morsetto del
cavo cavo

Morsetto del
cavo
Cavo dell'altoparlante

Per I'uso dell’unita da
parete:

) d NOTA:

Innanzitutto, appoggiate la TV Flat Screen sulla parte superiore
di un panno morbido, ecc, quindi attaccate i supporti dell’
altoparlante.

1. Attaccate gli altoparlanti alla TV Flat-
Screen (Vedi procedure 1-10 alle
pagine 21- 24).

Collegate gli altri cavi e il filo di alimentazione alla TV
Flat Screen.

2. Appoggiate la TV Flat-Screen sui
supporti di montaggio dell’unita da
parete.

Per maggiori dettagli, consultate le istruzioni per I'uso
in dotazione con 'unita da parete.

Attenzione
Non sollevate la TV Flat-Screen dagli altoparfanti:
un altoparlante potrebbe staccarsi, per cui tenetelo dal
basso.

24

Download from Www.Somanuals.com. All Manuals Search And Download.



Italiano

MANUTENZIONE DELLA
CASSA ESTERNA

* Per togliere sporco e polvere utilizzare un panno per
lucidare o un normale panno asciutto.

e Se la cassa esterna e molto sporca, pulirla con un panno
morbido bagnato con acqua e detergente, quindi passare
di nuovo un panno asciutto. Non utilizzare cera per mobili
o detersivi. Potrebbero danneggiare la superficie della
cassa esterna.

* Non usare mai diluenti, benzina, insetticidi spray e altri
prodotti chimici sulla cassa esterna o nelle vicinanze.
Questi prodotti sono corrosivi.

* In caso di uso di panni chimici, leggere attentamente le
avvertenze per il loro uso.

DATI TECNICI

Cassa esterna ... Tipo Bass-reflex
Altoparlanti utilizzati (sistema a due vie) :
Altoparlante per toni bassi......... A cono, 6,6 cm x 10,6 cm
Altoparlante per toni alti .................. A semi-cupola, 2,6 cm
IMPEABNZA. ..ot 6Q
Gamma di frequenze........ccocoveiviiiiinenan, 60 Hz a 30 000 Hz
Sensibilita (1M, TW) s 80 dB

Ingresso tollerabile :
[INGIreSSO MASSIMO ..ovviviiiiiiie
Ingresso nominale ........

Frequenza di transizione

Dimensioni esterne

............................... 105

Peso :
Altoparlante (pezzo UNICO) w..vvvvviviiveriiiiiriiciee, 1,65 kg
Altoparlanti (coppia) con cavi, supporti e viti ........... 3,6 kg

Parti accessorie (per due altoparlanti)
........................................................ Cavi dell'altoparlante x 2
....................................................... Supporti dell'altoparlante

Parte superiore sinistra (TOP L) x 1

Parte inferiore sinistra (BOTTOM L) x 1

Parte superiore destra (TOP R) x 1

Parte inferiore destra (BOTTOM R) x 1

...... Viti di montaggio per I'altoparlante (M5 x 10 mm) x 16
............................................................ Istruzioni per I'uso x 1

NOTA:
| dati tecnici e il design sono soggetti a variazioni senza
preavviso, a sequito di ulteriori miglioramenti del prodotto.

MODELLO N.
SERIE N.

AVVERTENZA IMPORTANTE - SCRIVETE QUI SOTTO IL NUMERO DI MODELLO E DI SERIE DI QUESTO APPARECCHIO.
I NUMERI SITROVANO SUL RETRO.

CONSERVATE QUESTI NUMERI PER LUSO FUTURO.

E Se si vuole eliminare questo prodotto, non gettarlo insieme ai rifiuti domestici. Esiste un sistema di raccolta differenziata in conformita
alle leggi che richiedono appositi trattamenti, recupero e riciclo.

| privati cittadini dei paesi membri dell'UE, di Svizzera e Norvegia, possono restituire senza alcun costo i loro prodotti elettronici usati ad appositi

servizi di raccolta o a un rivenditore (se si desidera acquistarne uno simile).

Per i paesi non citati qui sopra, si prega di prendere contatto con le autorita locali per il corretto metodo di smaltimento.

In questo modo, si e sicuri che il proprio prodotto eliminato subira il trattamento, il recupero e il riciclo necessari per prevenire gli effetti ‘o

potenzialmente negativi sull'ambiente e sulla vita dell'uomo.

58_A_It

Pubblicato da Pioneer Corporation.
Copyright © 2008 Pioneer Corporation.
Tutti i diritti riservati.

Download from Www.Somanuals.com. All Manuals Search And Download.

25

Italiano.



Nederlands

Dank u voor de aanschaf van dit Pioneer product.

Lees alvorens het luidsprekersysteem in gebruik te nemen
eerst deze gebruiksaanwijzing door zodat u volledig op

de hoogte bent van de bediening en werking. Bewaar de
gebruiksaanwijzing op een veilige plaats voor het geval u
later nog het een en ander wilt nalezen.

LET OP

Over de compatibiliteit

Dit product is uitsluitend ontworpen voor gebruik

met een Pioneer Flat Screen TV. Voor meer informatie
omtrent compatibiliteit met andere producten dient u uw
dichtstbijzijnde erkende Pioneer dealer of service-centrum
te raadplegen.

Over de installatie en de instellingen

e Als u de Flat Screen TV wilt verplaatsen mag deze niet
bij de luidspreker of luidsprekerbeugels vastgepakt
worden. Dit kan resulteren in letsel of beschadiging van
de beugels. Houd de TV aan de bovenzijde en de hendels
vast wanneer u hem verplaatst.

e Voor de montage van de luidspreker mogen alleen de
bijgeleverde schroeven worden gebruikt, want anders
kan de luidspreker van het hoofdapparaat losraken en
vallen.

* Draai de schroeven stevig vast bij de montage van de
luidspreker.

* Wees uitermate voorzichtig met de luidsprekers.

Het rooster en de behuizing zouden kunnen worden
beschadigd wanneer het luidsprekersysteem aan
schokken of stoten onderhevig wordt gesteld.

e Wanneer u een computerscherm of monitor met een
beeldbuis in de buurt van de luidspreker plaatst, kan dit
resulteren in beeldstoringen of kleurvervorming. Als dit
het geval is, moet u het scherm op een grotere afstand
van de luidspreker zetten.

Over de ingang

* Voorkom beschadiging van het luidsprekersysteem

door overbelasting en let derhalve op de volgende punten:

De luidsprekers mogen uitsluitend op deze Flat Screen TV

aangesloten worden. Dit kan leiden tot brand of andere

schade.

* Schakel de aangesloten apparatuur uit en trek het

netsnoer uit het stopcontact voordat u begint met het

wijzigen van de aansluitingen of de installatie.

Bij gebruik van een toonregelfunctie voor het versterken

van de hoge tonen mag u het volume op de versterker niet

te hoog instellen.

CONTROLEREN VAN DE
ONDERDELEN

¢ Luidsprekersnoeren x 2

¢ Luidsprekerbeugels

(TOPR)

Voor rechtsonder
(BOTTOM R)

(TOPL)

Voor linksonder
(BOTTOM L)

* Montageschroeven luidspreker
(M5 X 10 mm : Zwart) X 16

8%

* Handleiding

Installatie

* Raadpleeg uw dealer als u problemen ondervindt
tijdens de installatie.

* Pioneer aanvaardt geen aansprakelijkheid als gevolg
van onjuiste installatie, onjuist gebruik, wijziging of
natuurrampen.

26

Download from Www.Somanuals.com. All Manuals Search And Download.



Nederlands

INSTALLATIE OP DE FLAT SCREEN TV

Luidsprekerbeugel
(voor rechtsboven)

luidspreker
(M5 x 10 mm)

Luidsprekerbeugel
(voor rechtsonder)

Montageschroef
luidspreker
(M5 x 10 mm)

Montageschroef A

Luidspreker —

Flat Screen TV met geinstalleerde luidspreker

Montageschroef
luidspreker (M5 x 10 mm)

Montageschroef
luidspreker (M5 x 10 mm)

)

o

)

o

(

Montageschroef

luidspreker

Montageschroef
o luidspreker

o

$M5><10mm g T oo "
00085 I

| )
=l

8 AN
T S

—— Luidspreker

Luidsprekersnoer

Kabelklem* Kabelklem*

Kabelklem*

Luidsprekerbeugel
(voor linksboven)

Montageschroef
luidspreker
(M5 x 10 mm)

Luidsprekerbeugel
(voor linksonder)

Montageschroef
luidspreker
(M5 x 10 mm)

*: Onderdelen bij de Flat Screen TV

Indien de tafelbladstaander wordt gebruikt:

Vs d N.5.:

Voordat de luidspreker wordt bevestigd, dient de KRP-TS02-serie tafelbladstaander (of andere staander voor de Pioneer Flat Screen TV)
aan de flat Screen TV te worden bevestigd.

1. Bevestiging van de Luidsprekerbeugels aan de Luidsprekers.

Er zijn boven- en onderluidsprekerbeugels voor de linker- en rechter luidspreker. Bevestig de juiste beugels aan de boven- en
onderzijde aan de achterzijde van de luidsprekers d.m.v. de meegeleverde schroeven.
(De bevestiging van de beugel wordt aan de rechterzijde getoond. De bevestiging aan de linkerzijde vindt op dezelfde wijze

plaats.)

Luidsprekerbeugel (voor rechtsboven)
(De smalle sleuf dient aan de bovenzi-
jde te worden bevestigd.)

Luidsprekerbeugel
(voor rechtsonder)

Schroefgaten

Schroefgaten

Luidsprekerbeugel
(voor rechtsonder)

PPN

>

Luidsprekerbeugel
(voor rechtsboven)

Plaats de luidspreker zodat
de eindklemmen ervan

(onderzijde) naar u toe
gericht zijn.

Download from Www.Somanuals.com. All Manuals Search And Download.

27

Nederlands .



Nederlands
.|

2. Draai een meegeleverde schroef in . Stel de positie van de luidspreker bij
het montagegat van de luidspreker en draai vervolgens de bovenste en
(de laagste van de twee) aan de onderste schroeven stevig aan.
bovenaChterZUde van de Flat Screen . Draai de twee Schroeven boven en
TV. beneden aan voor elke luidspreker
Draai hem nog niet helemaal aan. Laat het nog half (totaal vier schroeven) zodat de
aangedraaid zodat er nog ongeveer 5 mm moet worden luid k de FI ’S TV
aangedraaid, uidsprekers op de Flat Screen

worden vastgezet.
Montagegat \
luidspreker —_| Bovenzijde, achterzijde
/ﬁ W Flat Screen TV
5} |
p]
4 N\
Bovenzijde Flat Screen TV
Q / 5 mm
(} —
& |©
\_ Laat ongeveer 5 mm ruimte ) @){?

3. Hang de luidsprekerbeugel aan de ﬂ
schroef die u aan de bovenzijde heeft
geinstalleerd door het brede gedeelte . Leid het meegeleverde
erover heen te schuiven en het in luidsprekersnoer tussen de
de gleuf te laten zakken; draai de luidspreker en de Flat Screen TV
laagste schroef tijdelijk aan. (onder de luidsprekerbeugel) van
Nadat het brede gedeelte van het gat van de onderop.
luidsprekerbeugel (bovenste gedeelte) over de schroef is luit de luid k d
geschoven, laat u de luidspreker erin zakken. .S E'"t e lui sp_re ersnoeren aan__op e

luidspreker (zie volgende bladzijde).
. Voeg het snoer in de sponning op de
Nadat het brede o luidspreker.
gedeelte van het ,/W
gat over de schroef _ I 370 Luidsprekersnoer /
is geschoven, laat u ‘ (} 4 \ Eindklem luidspreker
de luidspreker erin D !\
zakken.
(NN Het invoegen
' in de sponning
Draai de onderste
luidsprekerbeugel met de
meegeleverde schroef
tijdelijk aan op de Flat
Screen TV (op een plaats © ‘
onder). @ ‘
9. Sluit het andere uiteinde van de
S luidsprekersnoeren aan op de Flat
©) Screen TV (zie volgende bladzijde).
28

Download from Www.Somanuals.com. All Manuals Search And Download.



4 )
Sluit de luidsprekersnoeren

aan op de luidspreker.

Zwart Grijs
'O

Zwart © Rood ®

Sluit de snoeren op de juiste polariteit
van de luidsprekereindklemmen aan,
d.w.z. @ snoer (grijs) op de ®
eindklemmen (rood) en het @ snoer
(zwart) op de © eindklemmen (zwart).

-

Eindklem luidspreker

Nederlands

4 N
Sluit de luidsprekersnoeren op

de achterzijde van Flat Screen
TV aan.

Grijs Zwart Grijs

Sluit de snoeren op de juiste polariteit van de
eindklemmen van de Flat Screen TV als volgt
aan, shoer @ (grijs) op de @ eindklemmen
(rood) en snoer © (zwart) op de @ eindklem-
men (zwart).

Eindklem luidspreker

Luidsprekersnoer

Eindklem luidspreker

Ter illustratie wordt de tafelbladstaander niet hier getoond.

N.B.:

* Druk op het lipje en breng het
uiteinde van het snoer in. ﬁ‘

* Wanneer u het lipje loslaat, wordt het
luidsprekersnoer vastgezet. }
ALet op

» /Zorg ervoor dat de aangesloten apparatuur is
uitgeschakeld en verwijder het netsnoer eerst uit het
wandcontact wanneer u de aansluiting of installatie
wijzigt.

Indien u het luidsprekersnoer te ver O
insteekt zodat de isolatie de eindklem van

de luidspreker raakt, wordt er geen geluid

geproduceerd. Het snoer dient zodanig

te worden ingestoken dat de koperdraad

zichtbaar is. ><
Controleer of het uiteinde van de

luidsprekersnoeren goed is aangesloten

op de eindklemmen door enigszins aan het

snoer te trekken nadat de aansluitingen zijn

gedaan. Door loszittende aansluitingen kan de
verbinding worden verbroken of ruis ontstaan.

 Indien er kortsluiting plaatsvindt in de @ en @ snoeren
door een blootliggend netsnoer, is het mogelijk de Flat
Screen TV teveel belast wordt waardoor de bediening
onderbroken wordt of een storing ontstaat.

Door onjuiste aansluitingen voor wat betreft de polariteit
van het luidsprekersnoer op de rechter- of linkerzijde van
de eindklemmen van de Flat Screen TV kan onvoldoende
stereogeluidseffecten tot gevolg hebben, waardoor

een slecht basgeluid of ongebalanceerd geluidsbeeld
ontstaat.

* Voeg de snoeren samen zonder er aan te trekken.

Download from Www.Somanuals.com. All Manuals Search And Download.

29

Nederlands .



Nederlands

10. Het samenvoegen van de snoeren.
Volg onderstaande stappen om een kabelklem aan te
brengen.

1) Steek het klembandje door de houder en voeg het
snoer/de snoeren samen in de kabelklem.

2) Houd de hendeltjes ingedrukt en leid het haakje
door het juiste gat aan de achterzijde van de Flat
Screen TV.

3) Trek aan het klembandje om het vast te zetten.

4) Zorg ervoor dat de kabelklem stevig in het paneel
vastzit.

N.B.:

Zorg dat er geen beknelling of drukpunten ontstaan
wanneer de snoeren worden geleid of samengevoegd.

Houd de vergrendeling ingedrukt zodat deze openspringt
om het klembandje te verwijderen.

Druk de hendeltjes in and trek het bandje uit de opening
om het te verwijderen.

Vergrendeling
Hendeltje

QA

4

X

Hendeltje

N.B.:

Hoe langer een klem op zijn plaats blijft zitten, hoe
groter de kans op slijtage. Een oudere klem raakt sneller
beschadigd wanneer deze wordt verwijderd zodat hij niet
opnieuw gebruikt kan worden.

V¥ Achterzijde van Flat Screen TV

Kabelklem Kabelklem

Kabelklem

Luidsprekersnoer

Indien de eenheid voor
wandbevestiging wordt
gebruikt:

V4 N.B.:

Leg eerst de Flat Screen TV op een zachte doek of iets
dergelijks en bevestig daarna de luidsprekers.

1. Bevestig de luidsprekers aan de Flat
Screen TV (zie procedures 1 tot 10 op
bladzijde 27 tot 30).

Sluit de overige snoeren en het netsnoer aan op de Flat
Screen TV.

2. Plaats de Flat Screen TV op de
montage-onderdelen van de eenheid
voor wandbevestiging.

Zie voor meer informatie de bij de eenheid voor
wandbevestiging meegeleverde bedieningshandleiding.

Let op
Til de Flat Screen TV niet op bij de luidsprekers.
Een luidspreker kan losraken, houd hem daarom aan de
onderzijde vast.

30 Download from Www.Somanuals.com. All Manuals Search And Download.



ONDERHOUD VAN DE
BEHUIZING

* Veeg stof en vuil met een poetsdoek of droge, schone
doek van de behuizing.
» Bevochtig een zachte doek in een oplossing van water
en een neutraal reinigingsmiddel en wring de doek goed
uit voor het verwijderen van hardnekkige viekken. Veeg
na met een droge doek. Gebruik geen meubelwas of
andere reinigingsmiddelen daar deze de behuizing aan
kunnen tasten.
Gebruik beslist geen thinner, benzine, insectensprays en
andere chemische middelen op of in de buurt van de
behuizing daar dit soort middelen de behuizing aantast.
Bij gebruik van een chemische doek moet u alvorens
gebruik de aanwijzingen goed lezen en controleren of
deze doek voor dit systeem geschikt is.

Nederlands

TECHNISCHE GEGEVENS

BehUizing ..o Type basreflex
Luidsprekers (tweewegsysteem):

Woofer (voor lage tonen)

,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,, 6,6 cm % 10,6 cm hoornvormig type

Tweeter (voor hoge tonen).......... 2,6 cm halfbolvormig type
IMPEAANTIE 1.1t 6Q
Frequentiebereik ... 60 Hz t/m 30 000 Hz
Gevoeligheid (1 m, TW) i 80 dB
Toelaatbare invoer:

Maximaal ingangsvermMogen ..o 18W

Nominaal ingangsvermMogen ......cccovoiaiiiieeiieenans 6W
Crossover-frequentie ... 4 kHz

Externe afmetingen

Gewicht
Luidspreker (een Stuk) ..o 1,55 kg
Luidsprekers (tweetal) met snoeren,
beugels en schroeven ... 3,6 kg

Bijgeleverde onderdelen (voor twee luidsprekers)
......................................................... Luidsprekersnoeren x 2
................................................................ Luidsprekerbeugels

Linksboven (TOP L) x 1

Linksonder (BOTTOM L) x

Rechtsboven (TOP R) x

Rechtsonder (BOTTOM R) x
.......... Montageschroeven luidspreker (M5 x 10 mm) X W6
...................................................................... Handleiding x 1

OPMERKING:
Technische gegevens en ontwerp zijn ter productverbetering
zonder voorafgaande kennisgeving wijzigbaar.

BELANGRUK BERICHT

Modelnr.
Serienr.

— Neem het hieronder vermelde model- en serienummer van deze apparatuur over.
Deze nummers treft u aan op de achterzijde.

Bewaar deze nummers voor later gebruik.

elektronische producten.

voorgeschreven verzamelsysteem voor de juiste behandeling, het opnieuw bruikbaar maken en de recycling van gebruikte

E Deponeer dit product niet bij het gewone huishoudelijk afval wanneer u het wilt verwijderen. Er bestaat een speciaal wettelijk
_—

In de lidstaten van de EU, Zwitserland en Noorwegen kunnen particulieren hun gebruikte elektronische producten gratis bij de daarvoor
bestemde verzamelplaatsen of een verkooppunt (indien u aldaar een gelijkwaardig nieuw product koopt) inleveren.

Indien u zich in een ander dan bovengenoemd land bevindt kunt u contact opnemen met de plaatselijke overheid voor informatie over de juiste

verwijdering van het product.

Zodoende zorgt u ervoor dat het verwijderde product op de juiste wijze wordt behandeld, opnieuw bruikbaar wordt gemaakt, t gerecycleerd en het

niet schadelijk is voor de gezondheid en het milieu.

K058 _A Du

Uitgegeven door Pioneer Corporation.

Copyright © 2008 Pioneer Corporation.

Alle rechten voorbehouden.

Download from Www.Somanuals.com. All Manuals Search And Download.

31

n
T
c
5
S
0
T
0
2



Espanol

Muchas gracias por comprar este producto Pioneer.

Lea atentamente estas instrucciones de funcionamiento
antes de usar su sistema de altavoces, de modo que sepa
cémo obtener el maximo rendimiento. Después de haber
finalizado la lectura del manual de instrucciones, guardelo
en un lugar seguro para futuras consultas.

PRECAUCION

Acerca de la compatibilidad

Este producto ha sido disefado exclusivamente para ser
utilizado con el televisor de pantalla plana de Pioneer. Para
mas informacion sobre la compatibilidad, consulte su
distribuidor Pioneer autorizado o un centro de servicio.

Acerca de la instalacion y el ajuste

* No desplace el televisor de pantalla plana sujetandolo
por los altavoces o los soportes para los altavoces, ya que
usted podria lastimarse o los soportes podrian resultar
danados. Cuando desplace el televisor, sujételo por la
parte superiory por las asas.

* Cuando instale el altavoz, no emplee tornillos que no sean
los suministrados, dado que el altavoz podria separarse
de la unidad principal y caerse.

Cuando instale el altavoz, apriete bien los tornillos.
Manipule los altavoces con mucho cuidado, ya que la red
de rejillay la caja del altavoz pueden danarse o romperse
si se encuentran sujetos a fuertes impactos externos.

Si pone una pantalla TRC o un monitor TRC cerca del
altavoz, pueden producirse interferencias o distorsién del
color. En tal caso, aleje el monitor del altavoz.

Acerca de la entrada
* Para evitar dafnos al sistema de altavoces como
consecuencia de una sobrecarga de entrada, tenga en
cuenta las precauciones siguientes:
Estos altavoces deberan conectarse Unica 'y
exclusivamente al televisor de pantalla plana
especificado. De lo contrario, podrian producirse dafos o
un incendio.
Asegurese de desconectar los dispositivos conectados y
de desenchufar el cable de alimentacion de la toma de
corriente antes de cambiar las conexiones o de efectuar
la instalacion.
e Cuando emplee una funcién de control del tono
para acentuar mucho los sonidos agudos, no suba
excesivamente el volumen del amplificador.

COMPROBACION DE LOS
ACCESORIOS

¢ Cables de altavoz x 2

¢ Soportes para el altavoz
Para parte superior
derecha (TOP R)

Para parte inferior
derecha (BOTTOM R)

Para parte superior
izquierda (TOP L)

Para parte inferior
izquierda (BOTTOM L)

¢ Pernos de fijacién del altavoz
(M5 x 10 mm: negro) x 16

¢ Manual de instrucciones

Instalacion

* Siexperimentara alguna dificultad con la instalacién,
consulte a su distribuidor.

e Pioneer no se responsabiliza de ningun dano que
pudiera derivarse de una instalacion incorrecta, un
uso inadecuado, la realizacién de modificaciones o
catastrofes naturales.

32 Download from Www.Somanuals.com. All Manuals Search And Download.




Espaiol

INSTALACION EN EL TELEVISOR DE PANTALLA PLANA

Soporte para el altavoz
(para parte superior

Televisor de pantalla plana con el altavoz instalado

Perno de fijaciéon
del altavoz (M5 x 10 mm)

Perno de fijacion
del altavoz (M5 x 10 mm)

Soporte para el altavoz
(para parte superio

derecha)

Perno de fijacion
del altavoz
(M5 x 10 mm)

Altavoz —

Soporte para el altavoz
(para parte inferior
derecha)

o o
o o
ol Jo -
Perno de fijacion ( ) “ Perno de fijacion
del altavoz . delaltavoz
(M5 x 10 mm) T 5 (M5 x 10 mm)
e |
, 000
)

20

8 AN
T S

izquierda)

Perno de fijacion
del altavoz
(M5 x 10 mm)

— Altavoz
Soporte para el altavoz

(para parte inferior
izquierda)

Perno de fijacion

Perno de fijacién
del altavoz
(M5 x 10 mm)

Abrazadera
para cables*

Abrazadera
para cables*

Abrazadera
para cables*

Cable de altavoz

del altavoz
(M5 x 10 mm)

*: accesorios del televisor de pantalla plana

Si se utiliza el soporte de mesa:

Jsd NOTA:

Antes de instalar el altavoz, acople al televisor de pantalla plana el soporte de mesa de la serie KRP-TS02 (u otro soporte para
televisores de pantalla plana de Pioneer).

1. Como montar los soportes para los altavoces en los altavoces.
Hay soportes superiores e inferiores para el altavoz de la derecha y para el de la izquierda. Utilice los pernos suministrados
para montar los soportes adecuados en la parte superior e inferior de la cara posterior de los altavoces.
(Seguidamente se indica como montar el soporte del lado derecho; para montar el del lado izquierdo, siga el mismo
procedimiento.)

Agujeros roscados
Soporte para el altavoz

(para parte superior derecha)

(La ranura pequena se emplea para la
fijacion superior.)

Soporte para el
altavoz (para parte
superior derecha)

Soporte para el
altavoz (para parte

inferior derecha) Agujeros roscados

Soporte para el altavoz | IS
(para parte inferior derecha)

>~~~ Coloque el altavoz de
modo que sus terminales

(parte inferior) estén
mirando hacia usted.

33

Download from Www.Somanuals.com. All Manuals Search And Download.

Espaiol .



Espanol

2. Atornille uno de los pernos

suministrados en el agujero de

montaje del altavoz (el mas bajo de
los dos) situado en la parte superior
de la cara posterior del televisor de

pantalla plana.

No lo apriete al méximo todavia. Déjelo algo flojo, de
modo que queden unos 5 mm para atornillar.

Agujero para Parte superior de la

el montaje cara posterior del
del altavoz televisor de pantalla
plana

~N

Parte superior del
televisor de pantalla plana

3
5 4

SaC

5 mm

\_ Dejar un espacio de unos 5 mm)

3. Cuelgue el soporte para el altavoz

en el perno que ha atornillado en la
parte superior. Para ello, deslice la
parte mas ancha por encima de él y
después baje el altavoz y encajelo en
la ranura; atornille provisionalmente
el perno inferior.

Después de haber pasado por encima del perno la parte
mas ancha del agujero del soporte para el altavoz (parte
superior), baje el altavoz, de modo que descanse sobre
él.

Después de haber
pasado por encima
del perno la parte
mas ancha del

agujero, baje el

altavoz.

Utilice el perno
suministrado para fijar
provisionalmente en el
televisor de pantalla
plana el soporte para la
parte inferior del
altavoz (agujero en la
parte inferior).

o

4. Ajuste la posicion del altavoz y a

continuaciéon asegure firmemente los
pernos superior e inferior.

5. Apriete los dos pernos, en la parte

superior e inferior de cada altavoz
(un total de cuatro pernos). De este
modo fijara los altavoces al televisor
de pantalla plana.

W

6. Pase el cable de altavoz suministrado

entre el altavoz y el televisor de
pantalla plana (por debajo del
soporte para el altavoz) desde abajo.

. Conecte los cables de altavoz al

altavoz (consulte la pagina siguiente).

. Introduzca el cable por la ranura del

altavoz.

Cable de a\tavoz Terminal /
de altavoz

@/ Introducir por
./Ia ranura

. Conecte el otro extremo de los cables

de altavoz a la parte posterior del
televisor de pantalla plana (consulte
la pagina siguiente).

Download from Www.Somanuals.com. All Manuals Search And Download.



-
Cémo conectar los cables

de altavoz al altavoz.

Negro Gris
%7
/ \

Negro © Rojo ®

Conecte los cables correctamente con
respecto a la polaridad de los terminales
de altavoz; es decir, el cable @ (gris) al
terminal @ (rojo) y el cable @ (negro) al

Terminal de altavoz

Espaiol

Vs

Como conectar los cables de
altavoz a la parte posterior del
televisor de pantalla plana.

Gris Gris

Conecte los cables correctamente con respecto
a la polaridad de los terminales de altavoz del
televisor de pantalla plana; es decir, el cable ®
(gris) al terminal ® (rojo) y el cable @ (negro)
al terminal @ (negro).

Negro

terminal ® (negro).

@
®
¢
DE D

71;

Terminal de altavoz

Terminal de altavoz

Cable de altavoz

A efectos ilustrativos, en este manual no se presenta el soporte de mesa.

B wora:

Presione la palanca e introduzca el
extremo del cable.

Cuando suelte la palanca, el cable de
altavoz quedara sujeto.

il
AN

APrecaucién

Cuando cambie la conexién o lleve a cabo la instalacién,
aseglrese de que apaga los aparatos conectados y de
que desenchufa el cable de alimentacion de la toma de
pared.

Siintroduce el cable de altavoz de modo O
que el aislamiento esté tocando el terminal

de altavoz, es posible que no obtenga

ningun sonido. No lo introduzca demasiado,

de forma que el hilo de cobre quede visible.

X

Para comprobar que los extremos de los cables de altavoz
estan bien conectados a los terminales, una vez que haya
realizado la conexién, tire suavemente de cada uno de

los cables. Si las conexiones han quedado algo flojas, es
posible que se ocasionen pérdidas de sonido o ruido.

Si se produce un cortocircuito en los cables ® y ©
causado por un cable desnudo, es posible que el
televisor de pantalla plana reciba una carga excesiva, lo
que se traducirfa en un funcionamiento interrumpido o
incorrecto.

Si las conexiones del cable de altavoz a los terminales
derecho o izquierdo del televisor de pantalla plana

no se han realizado correctamente con respecto a la
polaridad, podrfan producirse efectos de sonido estéreo
defectuosos, lo que a su vez daria lugar a unos sonidos
graves deficientes 0 a una imagen sonora inestable.

Enrolle el cable sobre si mismo sin tirar de él.

Download from Www.Somanuals.com. All Manuals Search And Download.

35

Espaiol .



Espanol

10.

V¥ Parte posterior del televisor de pantalla plana

Como reunir y enrollar los cables

sobre si mismos.

Para colocar una abrazadera para cables, siga los pasos

que se indican a continuacion.

1) Deslice un extremo de la abrazadera por el soporte
de la misma'y relina los cables de modo que éstos
queden sujetos por la abrazadera.

2) Presione las palancas de la abrazaderay, sin
soltarlas, introduzca el gancho en el orificio que
encontraré en la parte posterior del televisor de
pantalla plana.

3) Tire del extremo de la abrazadera para cerrarla.

4)  Confirme que la abrazadera para cables queda
firmemente sujeta en el panel.

Bwora:

Al distribuir o reunir los cables, evite pellizcarlos o crear
puntos de presion.

Para extraer la banda de la abrazadera para cables, tire
de la lengueta de liberacion.

Para extraer la abrazadera para cables, mantenga
presionadas las palancasy extréigala del orificio.

Lengueta
Palanca

Palanca

) A NOTA:

Cuanto mas tiempo haga que se haya instalado una
abrazadera, mds probabilidades habra de que la misma se
deteriore. Una abrazadera antigua se danara con mayor
facilidad al extraerla y es posible que no se pueda utilizar
de nuevo.

NE=—HN

Abrazadera Abrazadera
para cables para cables

Abrazadera
para cables
Cable de altavoz

Si el televisor se instala en
la unidad para colgar de la
pared:

Jd NOTA:

Primero disponga de forma horizontal el televisor de pantalla
plana sobre una sabana suave, etc. Después, coloque los
altavoces.

1. Coloque los altavoces en el televisor
de pantalla plana (consulte los
procedimientos 1 a 10 en las paginas
33 a 36).

Conecte los otros cables y el cable de alimentacion al
televisor de pantalla plana.

2. Coloque el televisor de pantalla plana
en los accesorios de montaje de la
unidad para colgar de la pared.

Para detalles al respecto, consulte el manual de

instrucciones facilitado con la unidad para colgar de la
pared.

Precaucion

No levante el televisor de pantalla plana sujetandolo por
los altavoces, ya que éstos podrian soltarse.
Sujételo por la parte inferior.

36

Download from Www.Somanuals.com. All Manuals Search And Download.



MANTENIMIENTO DE LA
CAJA DEL ALTAVOZ

e Para quitar la suciedad y el polvo utilice un pano
abrillantador o un pano seco.

Si la caja del altavoz estd muy sucia, limpiela con un pano
humedecido con algun producto limpiador diluido con
agua. Después, seque la superficie con un pafo seco. No
utilice ceras ni productos limpiadores para muebles, ya
que dafarian la superficie de la caja del altavoz.

* Nunca utilice diluyentes, bencinas, rociadores de
insecticidas ni otros productos quimicos sobre la caja del
altavoz o cerca de ella, ya que podrian correr la superficie.
Si utiliza un pafo quimico, lea cuidadosamente las
instrucciones que acompanen al mismo.

Espaiol

ESPECIFICACIONES

Cajadel altavoz.........ccccocviiioiiiiiiinn, Tipo reflejo de bajos
Altavoces usados (sistema de dos vias):
Woofer (para los sonidos graves)
,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,, Tipo cénico 6,6 cm x 10.6 cm
Tweeter (para los sonidos agudos)

IMPEAANCIA 1ttt 6 Q
Gama de frecuencias .........ccoevvveiiinennn, 60 Hz a 30 000 Hz
Sensibilidad (1M, TW) oo 80 dB

Entrada permisible:
Entrada maxima
Entrada nominal ....

Frecuencia de CrUCE ..o 4 kHz

Dimensiones exteriores
.......................... 105 (An) mm x 723 (Al) mm X 66 (Pr) mm

Peso:
Altavoz (una sola unidad).......cocceeeviiiiiiiiiiie 1,65 kg
Altavoz (dos unidades) con cables,
SOPOIES Y PEINOS. ...ttt 3,6 kg

Accesorios (para dos altavoces)
............................................................... Cable de altavoz x 2
......................................................... Soportes para el altavoz

Parte superior izquierda (TOP L) X W

Parte inferior izquierda (BOTTOM L) x

Parte superior derecha (TOP R) x

Parte inferior derecha (BOTTOM R) x
............. Pernos de fijacion del altavoz (M5 x 10 mm) x W6
................................................ Manual de instrucciones x 1

NOTA:
Las especificaciones y el disefio estan sujetos a posibles
cambios sin previo aviso a efectos de mejorar el producto.

N.°© DE MODELO

AVISO IMPORTANTE — ANOTE MAS ABAJO EL NUMERO DE MODELO Y EL NUMERO DE SERIE DE ESTE EQUIPO.
LOS ENCONTRARA DETALLADOS EN LA PARTE POSTERIOR DEL MISMO.

N°DESERIE —
GUARDE ESTOS NUMEROS PARA FUTURAS REFERENCIAS.

tratamiento, recuperacion y reciclado.

i

Si desea deshacerse de este producto, no lo mezcle con los residuos generales de su hogar. De conformidad con la legislacion
vigente, existe un sistema de recogida distinto para los productos electrénicos que requieren un procedimiento adecuado de

Las viviendas privadas en los estados miembros de la UE, en Suiza y Noruega pueden devolver gratuitamente sus productos electronicos usados
en las instalaciones de recoleccion previstas o bien en las instalaciones de minoristas (si adquieren un producto similar nuevo).

En el caso de los pafses que no se han mencionado en el pérrafo anterior, péngase en contacto con sus autoridades locales a fin de conocer el

método de eliminacién correcto.

Al actuar siguiendo estas instrucciones, se aseguraré de que el producto de desecho se somete a los procesos de tratamiento, recuperaciéon y

reciclaje necesarios, con lo que se previenen los efectos negativos potenciales para el entornoy la salud humana.

K058 A_Sp

Publicado por Pioneer Corporation.
Copyright © 2008 Pioneer Corporation.
Todos los derechos reservados.

Download from Www.Somanuals.com. All Manuals Search And Download. 37

)
=
©
o
7]
L



3

TEBE RS an R T SrOERE R E i - DU
AR E A R Ae R S L A (R TR RE - BIRSE 1% - 76
rrHZERELMEH®RZ% -

EE

IR FEEIE

A L PR S A R P S I R o BRIHAER
G AL R B R S R B IR S L -

AR LR EEE

© FRZ)LNB (LSRG S AR [ R E AR B Y B
i SHIATRES B A S BENEERERE - &
BV EER - G MR R A e HE T T
R -

© LUERBARNT o FE/)0E IR ARRR DA MOIRRS - &
NI SR AT RE S e ARSI BH - BB -

- UGB o FHIHIRREEL -

- EHRASZEINIRIRER - SRR
FEH > DL BRI A o

- EHRERHDINE CRT BASH#Ek CRT Eiasnl
FEEHE TN AE - AERLBLEEREDN - 3
BEEGT A B aE S Ay -

BB i

- Pk N ACEE TS B EE RRE - S5 AL
EIELL MRS

- REZURE R A I FE E R PR IR Z SN B -
HIATREEEHRIH B S -

- DOBHER LIRS - BAAST R iR YRR IR
BT - MR EEAR A (e B L AOTREE TP AL

- B E SRR AR E T o SRR S
BRI -

wmERRY

- PEREERE T RS
(M5x10mm : Bff1) x 16

W

3

- BREE

RE

- AIRZEGETINEE - FEEISIH RS -

C HIREEARLE

38 Download from Www.Somanuals.com. All Manuals Search And Download.




fad

FHEEiRAC

&R E A FEER

B R AR B AR AR
. e (M5 x 10 mm) (M5 x 10 mm) %%%Eiﬁﬁtﬁ
AR RE CEALER)
(RIS .

PR A T T W ° o o A 6 TE I
(M5 x 10 mm) (M5 x 10 mm)
wugan W . . 1 s
ol Jo

°q ) © '
P i ] 7 - - — o B AR T IR N
. . ® S (M5x 10 B E SR
%;%;E%%E (M5xwomm> E . DUD§§8D @( x10mm) i
" Nl il 3w~
| " s
B A [E E 155 P A [ TE IR
M5 x 10 5 0 (M5 x 10 mm)
e St s PR e o

PR AR

fERSR LT3R :

g 155 -

LRGBS » T LSE VI KRPTS02 AL %4 (BCH R IEFE VI B2 -

1. BELERREERE -
RS HRAE — A DIEE LN AREEE - FHRFIERER[E B L RS Ry LR N7 A DARERS
FERREE L -
(BB R A RE RS E 2 25 AR BIRERRANZ EERE -

IERAL

B E R E (Gl L)
(R B FH i s [ 52 22 TR © )

BB GEEEE
BRI S CHMETT)

CHETTT)

IEHRAL

BRI E R
CHETTI)

> T (RIS

N g -

Download from Www.Somanuals.com. All Manuals Search And Download. 39



3
2. T FEERNEE LY @ ASREMHEY—5E 4. FBSBERRUE - REBHBLTEHR -

IRl A IR BB IR ATLPY (3BS 5. SRR IBER L THIMBEIRG (£
AMERGHA AT ERETHE) - ) MUt EA SIS EREE N PEER
EIEHES - BRI 6 mm AOZER - RYTR FEEHER - ko

%ﬁﬁﬁiﬁ%ﬂ\\f§§§¥ﬁzm%ﬁﬁﬁ
/47/ﬁ°NT\
®
P TR IR

N /*
®

/&T

\ TR 6 mm (R o) ’ W
B T SRR B2 . mEMsERERe - € THT8S
o DR AT e %%&%?%ﬁ*ﬁ(ﬁ%%ﬁ%@i
\ s = HTFE IliR E-Fjj_ °
WA () MISERESI— s A = . ene e
B4t - AR PRI KR 7. iR ERRE LIBRE (FRXR) -

8. MERMEANGERBIED -

TR R T B — B
R - T

BESRE . AR

DA BRRR - 1 55
EREFCVEHER (RIRE
DR =i Tt el

9. HHERERRN S —ImEREFEE
T AR (FSERE) -

&

40

Download from Www.Somanuals.com. All Manuals Search And Download.



Lapd

1 (

( )
EmERERRIE LI5S - SHE R ERREEFEERD

R xe
%7
\
HEO FLE D

A5 IEHEM R AR 5 M aa i T OB MR B2 LT £ B SV T B o 5 5 s S Ol 2 2 |3
PR - @ HEHR (RE) BT © HAR - Ol © EEHR ORG) EER © b

¥ (RLE) - © gy (RE) jEs:
B O T (BE) -

T (fL&) ; © HEEg (BE) EEE O b
T (R@) -

_ J
R T A BT
Ry ERER - BRI RS B -
i 57 -
- RIBHRIN - HAGEER - - HRGHRNEEGE @ B © BRI - KRTREE
. EUREZRERIREG - R E B Ei;l e~ T B ) B R - B ERERF PP E Bl
(LB dn AR - k - SR R IR IERE M A B - A
. } b T - A RE B E AR N -
A= BB » B -
- FEEE BRI TR RS LB PR A SEE - . WRELSEEAEE - S50 SR -

MR TR R A -

ARG BB R B R AR R
T {5 8% e FS Tl 221 95 2 i O 1 ST ] O
REE RS R - i ACHBHRI - R %
FrE1SEISHIRAI R -

- EHRR  BRELERE > ESE X
e i B2 R A 2 (6] B B Ui 1R o
ANERHBEEER - R AT REEECE R
PREE S IR -

41

Download from Www.Somanuals.com. All Manuals Search And Download.

FFISE.



A3
10. MRZEREER -

A Y B A ER A -

1) RFERGRER M E E AR AR FLARAT R HE AR

2) I EFLARIN - ARRAF LR S22 P I BE i 7
W IEHER LA -
3) DIEXEEMRDAENE

0.8

4) ERRILETE S HEE L IAEmi L -

KD 52 -
BTG - 70 PELIA

R AR BRIRE  FERABERAT -
EEAUT LA B EEE R R FL AL -
K&
I 72 Fr
/
%@—
\
I 72 Fr
d 753 -

FLARFIIT B 7] RERERF AT T B - BEG % rTREE /KA
G H AR

MR

BRARA Bfll BRARA
B e P

{EREERIEEERT -
hd st -
TR B BT R B IR | PLETT 4S8 -

1. BIEERREIFEERL (F2EE
39 -R2BXLH1E10)-
L At S A I BB VR B T SR T

2. D FEERNEEEHEENEERE
J: °
SEIETE 2 B R P B PRI AR E T -

2EE

F GO FIE BRI - G R s - A A AT
FERIMIFARG » fafoE P B A fEay -~ FE5hr -

42

Download from Www.Somanuals.com. All Manuals Search And Download.



MRS

(R R EAT B AT AR UK BERIYS 3G -

- ERRBUREER > R RGO KRR B TS R A E

TR - RREREZANERT - F2ERREEEE
BRI o SRS RS R -

© YIRS B AR - 7 - R

DA EALS2 8T - AREME R AR

- EEAECERRERIEARR - BB RERATRY

X
B

B B R A
FrREEZ (REERH)

RERE CHRMEE) ..., 6.6cmx10.6cm [EA!

EEW CHREE) o 2.5 cm *FERTEH
BB e 6Q
BEREE ... 60 Hz %1 30 000 Hz
BRE (Im IW) o 80 dB
BT AThH

BREAINE o 18 W

FEMAINER . 6 W
BERBEE 4 kHz
INE R

L 105CE ) mmx723(E ) mm x66( %) mm

HE

BEd (D) 1.55 kg

B (W) HhERg

EIEEEERIERR 3.6 kg
e (A2 )

........................... BB R x 2

............................. BB EE ST

AR ET (TOPL) x 1
BTN (BOTTOM L) x 1
HEI LT (TOPR) x 1
HHEITR S (BOTTOMR) x 1

............ Hit e E E Rk (Mb x 10 mm) x 16
............................... BRIEF x 1

FE
RIEAREGE - HSHIR A B ZEE ST -

EBER — SRR MR BBRRIFEIRRCE P BeE e .

R
ik

RBH 18 SRS U IR 2 35 -

HAS A TR
[ ©2008 HASLHEAF] -
f R -

Download from Www.Somanuals.com. All Manuals Search And Download.

43

FFISE.



Pycckuin

Criacu60 3a nokyrnky npoaykra Pioneer.

[MorkayiicTa MPOYTHUTE JAHHBIC HHCTPYKIHUH 110 SKCILTyaTalliy
Hepe/ UCIOIb30BaHHEM BallIeH aKyCTHYECKON CHCTEMBI, TaK
4TOObI HCIIOJIB30BATH €€ CAMBIM ONTHMAIbHBIM 00pasom. ITocie
TOTO KaK BbI IPOWIH HHCTPYKIIHH, TOJIOXKUTE UX B HAISIKHOE
MECTO IS JaTbHEHIIINX CIIPABOK.

BHUMAHUE

UHdopmaLims o coBMeCTUMOCTHU

DTOT NPOAYKT CKOHCTPYHPOBAH MCKIIIOUUTEIBHO IS
HCIIONIB30BaHM ¢ TeaeBu30poM ¢ [lnockum Dxpanom Pioneer.
IIJ'IH HOHOHHHTGHLHOﬁ I/IH(i)OpMaI_II/II/I 10 COBMECTHMOCTH,
MOXKAITYHCTa IPOKOHCYIBTUPYHTECH ¢ OJIMKAMIIAM
JIMLEH3UPOBAHHBIM JIHIepoM Pioneer mi CepBUCHBIM LIEHTPOM.

06 ycTaHOBKe U HacTpoWke

* He nepemenaiitre teneBuzop ¢ [Tnockum DkpaHoM, nepixkack 3a
9TU FPOMKOTOBOPHTENHN MU JAEPKaTeIl TPOMKOTOBOpHUTENEH.
DTO MOXKET TIPUBECTHU K CIJ]/IB]/I‘{GCKI/IM TIOBPEKACHUSAM WA
MOBPEXKJICHUIO AepkaTeneil. [Ipu nepemerieHnu TeneBu3opa
JIEPAKUTECH 3@ €r0 BEPXHIOIO YacCTh U 33 PYUKH.

/N
\

\ —
I 1=\ /- N N O

* IIpu ycTaHOBKE IPOMKOTOBOPHUTEIIS HE HCIIONB3YITe KaKkue-
1160 BUHTHI, KPOME TEX, KOTOPbIE HMEIOTCS B KOMIUIEKTE, B
IIPOTHBHOM CITy4ae TPOMKOTOBOPHTENb MOXKET OT/CIHTHCS OT
OCHOBHOTO KOPITyCa U yIacTb.

* IIpu ycTaHOBKE IPOMKOTOBOPHUTENS KPEIKO 3aBUHTUTE BUHTHI.

* Tloxainyiicta oOpamaiTech ¢ IpOMKOTOBOPUTEINIEM C
HaJUIeXKaIeH 3a00TOM, TaKk KaK 3alIUTHAS CETKa U KOPIyC
MOT'YT MOBPEUTHCS UIIH Pa30OMThCs IPH CUIILHOM BHEIIHEM
BO3JIEHCTBUU.

* Ilpu pacnonoxennu kommnerorepHoro skpana CRT winu
MoHuTopa CRT Bo371€ rPOMOrOBOPUTENSE MOT'YT BO3HUKHYTh
MIOMEXH HJIM HCKa)KCHHE [[BETOB. B TaKuX CIIydasix OTOABUHBTE
MOHHTOP OT FPOMKOTOBOPHTEIIS.

Nudopmaumsa o Bxoae

* Jlys mpenoTBpamnieHus HOBPEXKCHHN aKyCTHIECKOH CHCTEMBI
OT Teperpy3Ku BXoza noxaiyiicra codmonaire ciemyomume
Mepbl IIPEI0CTOPOIKHOCTH:

* He moxgxmiodaiite 3TH TPOMKOTOBOPUTENH K KAKOMY-ITHOO
YCTPOHCTBY, KpPOME YKa3aHHOTo TejeBu3opa ¢ [lnockum
DKpaHOM. DTO MOXKET IPUBECTH K MOBPEKACHHUIO HIIN IIOKApY.

* YI0CTOBEpPBTECH, YTO HOAKIIOUCHHBIC YCTPOHCTBA OTKITIOUCHBI
U 3apaHee BbIHbTE KalOelb MUTaHUs U3 CTEHHOW PO3ETKH NPH
CMEHEe COEIMHCHUS MJIIM METO/1a YCTaHOBKH.

* Ilpu ucnons3oBaHuu QyHKIIMU KOHTPOIUPOBAHUS 3BYKa,
YTOOBI OYEHb YCHIIUTD BBICOKHE 3BYKOBBIC YACTOTHI HE
YpEe3MEPHO 3aBBIIANTE IPOMKOCTD YCHIHTEI.

NMPOBEPKA AKCECCYAPOB

« Kabenu rpomkoroBoputeneit x 2

e Jlepkarenu TpOMKOTOBOpUTENCH

Jlns BepxHero
npasoro (TOP R)

J1J1s1 HYDKHETOo IpaBoro
(BOTTOM R)

Jlns BepxHeTo
nesoro (TOP L)

J171sl HXKHETO JIEBOTO
(BOTTOM L)

* BUHTBI JUIs1 yCTAHOBKH TPOMKOTOBOPUTEINICH
(M5 x 10 mm: YepHoro nera) x 16

&

e MHCTpyKIMU 1O 9KCILTyaTalHuu

YcTtaHoBKa

* TIpOKOHCYIBTHPYITECH C BAIIMM AMICPOM B CITydac
TPYAHOCTEH TPHU YCTAHOBKE.

* Pioneer He HeceT OTBETCTBEHHOCTH 3a JIFOObIE
MOBPEXKACHHS, BOSHHKIIINC T10 IPUYMHE HEHA/UICKAIICH
YCTaHOBKH, HEHAJUISKAIIETO HCIIOIb30BaHH,
MOZU(UKAINY WM CTHXUIHBIX O€ICTBU.

44

Download from Www.Somanuals.com. All Manuals Search And Download.




Pycckun

YCTAHOBKA HA TEJIEBU3OPE C NJIOCKUM 3KPAHOM

TeneBusop c¢ Nnockum BKkpaHOM € YCTaHOBNEHHbIM FPOMKOroBOpUTeNnemM

BunTs JUIs1 YCTaHOBKH BunTtst JJIs1 yCTAHOBKH
y y eprKaTesb

Heprarens rpomkoroopureneit (M5 x 10 mm) rpomkoropopureneit (M5 x 10 mm) IPOMKOTOBOPHTEJIS
TPOMKOTOBOPHTENS (Jlns BepxHero
([nst BepxHero — < 1eBOTO)

TIPaBoro) N ) Eﬁ @

BunTHI JUISL yCTaHOBKH
BunTtst JUIA yCTaHOBKH o o o
pOMKOTOROpHTENeH TPOMKOTOBOPUTEINIEH
I'POMKOTOBOPUTEIICH
MS5 x 10 MM
(M5 % 10 Mm) ( )
I'pomMroroBopHUTETH — - o o 17— I poMKorosopurens
o ) =
BunTs! n1st ycraHOBKI ) ¢ BUHTBI JUIsL yCTAHOBKH Jepxarens
Heprxarens TPOMKOTOBOPHTEINEH = = = . TPOMKOTOBOpHUTETIEH POMKOTOBOPHTENS
TPOMKOTOBOPHTEIIS (M5 % 10 mm) u © ¢ (M5 x 10 mm) (151 HUKHETO
(Jls HIOKHETO L 8882
© 29 © o JIEBOTO)
npasoro) Z 0 X
<L—/‘ N
9 JAN
[ - > \
BunTHI JUISL YCTaHOBKH

BunThI JUIsT YCTAaHOBKH FpOMKOTOBOpHTeHCﬁ
IPOMKOTrOBOpHTEJIEi KaGeb rpoMKOroBopuresis (M5 x 10 mm)

(M5 x 10 Mm) KabGenbHblii 3aKuM* KabenbHbIii 3axum™ KabenbHbIit 3axumM*

*: akceccyapsl Tenesusopa ¢ [Liockum DkpaHom
M Py ncnosfib3oBaHM NnoACTaBKU-CTOJIUKA.
BHUMAHME:

J10 TOro Kak KpernuTh rPOMKOTOBOPHUTEIIb, MOXKATYHCTa, MPUKPENUTE CTOMMK-TIoAcTaBKy Moaenn KRP-TS02 (uau apyroit cronmk-
noycTaBKy TeneBu3opa ¢ [lnockum Dkpanom Pioneer) k TeneBuzopy ¢ Ilnmockum Dxpanom.

1. MpukpenneHune aepxartenier rPOMKoOroBopuTternen K rpoOMKOroBopuUTensm.
EcTb BepxHHE U HIJKHHE JAEP/KAaTeIN IPOMKOrOBOPUTENEH, KaK JUlsl JIEBOTO, TAK U IS IPABOTO IPOMKOroBopurelsi. [Ipukpenure
COOTBETCTBYIOIIIHE ACP/KATENIN K BEPXY U HU3Y HAa 000POTHOI CTOPOHE IPOMKOTOBOPHTEIICH MPH UCHOIB30BAaHUN UMCIOIIUXCS B
KOMIUIEKTE BUHTOB.
(31ech moka3zaHo NpUKpeIIeHue aepxkatens crpaa. C JIeBOl CTOPOHBI OH KPETIUTCS TEM XkKe 00pa3oM.)

BunTOBBIC OTBEPCTUA

Jleprkarenib rpOMKOTOBOPUTEIISE

(17151 BEpXHETO MPaBoro)

(Tonkoe oTBepcTHE HCIIOTB3YETCS IS
YCTQHOBKH CBEPXY.)

Jepxarenb
IPOMKOTOBOPHUTEIIS

([l BepxXHEro npaBoro)
Jepxarens
TPOMKOTOBOPHTEIISI
([l HMUXKHETO TPaBOro)

BunTtoBble oTBEpCTHS

Jlepxaresb TpOMKOTOBOPHTEIIS
(JAyist HYDKHETO TIPaBoro)?

l< >~ ~  Pacmonoxure
\l\/ TPOMKOTOBOPHUTENh TaK, YTOOBI

€r0 TepMHUHAIGI (B HIDKHEI
4acTH) OBUIH HATIPABIICHBI B
BaIlly CTOPOHY.

S
s
X
0
3]
)

-8

45

Download from Www.Somanuals.com. All Manuals Search And Download.



Pycckuin

2.

3aBUHTUTE UMEIOLMNCA B KOMMNIIEKTE
BUHT B YCTaHOBOYHOE OTBEpCTUE
rPOMKOroBOpUTENA (HMXHEEe U3 ABYX)
cBepXxy, Ha 3aAHen YacTu TeneBm3opa
¢ NMnockum AkpaHom.

IToka He ciMIIKOM Kpenko 3atsruBaiite ero. OcraBbre €ro
HE3aTsHYTHIM, TPUOIU3UTEIFHO HA 5 MM ISl 3aTSOKKU.

N

OTtBepcTHe Ul YCTaHOBKU

rpoMKoroBopuTens | W BepxHsist 3a/iHs1s1 9aCTh
D

o TEJIEBU30pa C TInockum

© DKpaHOM
( Bepxnsist yacTh TeneBuzopa c\
Q TInockum DxpaHom
5 MM
(} |
odE
OcraBbTe pacCTOsTHUE
MIPUOIH3UTEIIBHO B 5 MM
\. P J

3. NoBecbTe AepxaTesb

rPOMKOrOBOPUTENS Ha BUHT, KOTOPbIN
Bbl YCTAaHOBUIIN HaBepXy, NpoaeB
ero yepes LWMPOKYH YacTb U ONYyCTUB
€ro B LWeflb; BPeMeHHO 3aBUHTUTE
HWXHUWA BUHT.

IpozeB MIMPOKYO YaCTh OTBEPCTHUSI ICPIKATEIS
IPOMKOTOBOPUTEIS (BEPX) Yepe3 BUHT, OITyCTUTE
I'POMKOTOBOPHTEIb.

Q

[Ipoznes 1mupokyto /@9

/,‘

4acTh OTBEPCTHUS
4yepe3 BUHT, OIYCTHTE —<a

TPOMKOTOBOPHTEIIb. D

Bpemenno 3akpenure
HIDKHUH JiepKaTelib
TPOMKOTOBOPHTEIS Ha
TeneBu3op ¢ Ilmockum
DKpaHOM IPHU OMOIIN
HMEIOLIETroCs B KOMILIEKTE
BUHTA (OZIHO MECTO BHU3Y).

E\

@e

S

. HacTpowTe nonoxeHue

rpoMKoroBopuTtens n 3aTtem nNJyOTHO
3aBUHTUTE BepXHUe N HUWXKHMe BUHTDbI.

. 3aBUHTUTe OBa BUHTA, HaBepxy n

BHU3Y KaXXgoro rpOMKoOroBopurensi
(Bcero 4yeTbipe BMHTA), TaKUM 0Gpa3om
NPUKpPENUB rPOMKOroBOPUTENN K
TeneBusopy c lNnocknm dkpaHoMm.

%e

=

g (
|

6. CHu3y npoBeauTe MMEKOLMNCA

B KOMIJIEKTe Kabenb mexay
rPOMKOroBopuUTENEeM U TENEBU3OPOM
¢ NMnockum dkpaHoM (BHU3Y
AepxaTens rpoMKOroBopuTens).

. CoeguHuTe kabenu

rPOMKOroBopuTens c
rpoMmkoroBoputenem (CMoTpuTte
cneaymwoLyo CTpaHuuy).

. BcTaBbTe kKabenb B na3 Ha

rpomMKoroBopumrerne.

Kab6enn /
rpomxorosopmens{ Tepmunan
I’pOMKOFOBOpPITeJ'IH

ITomemenne

. CoeguHunTe 0OpaTHLIN KOHeL,

Kabenewn rpoMKoroBopurternem c
3a4Hen YacTbio TeneBsmnsopa c
Mnockum dkpaHoM (cMmoTpuUTe
cneayroLyo cTpaHuuy).

46

Download from Www.Somanuals.com. All Manuals Search And Download.



Pycckun

4 ) ( o )
CoeaunHeHue kabeneun CoeaunHeHue kabenen
rpoMKoroBopuTens c rPOMKOroBopUTesien ¢ 3agHeun
rpoMKoroBopuTenem. 4acTblo Tenesu3opa c Mnockum

JKpaHOM.
YepHblit Cepsrif P
\/ /\ Cepplii YepHblit Cepblit
Yeprbiii © Kpacubiit @ %@w%
Kpachbrit KpacHhsrii
IpaBunbHO coennHUTE Kabean, cobmoaast YepHblii
TOIAPHOCTE TEPMUHAIIOB IIpaBmiisHO coenuHNTE KabelH, coOmonas
FPOMKOVF oBopuTeseii, T0 ecTb @ Kabenb MOJIIPHOCTh TEPMUHAJIOB IPOMKOTOBOPUTENIEH
(Ceperit) f @ TepmuHanam . TeneBu3opa ¢ [nockum DKpaHoM, To ecThb, ®
(Kpacnpiit) 1 © Ka6ei1b (Yepnplit) k © kabeib (cepbiil) kK @Tepmunanam (KpacHbiil) u ©
TepMuHanaM (YepHbrii). kaleitb (depHblil) K © TepMuHaIaM (YEPHBIN).
- J
TepMmuHaI TPOMKOTOBOPUTEIISI
[\
(
i 2835 :
V00
ERN (@3 @ )
:I}\ °o o o |!|
Tepmunan Tepmunan
IPOMKOTOBOPHTENS Kabeutb rpomkorosopuress IPOMKOTOBOPHTEIS

Ha KapTUHKE IOJACTaBKa-CTOJIMK HE MPECACTaBJICHA.

° KOI‘Ha BBI OTIIYCTUTE pbIvar, TO OH

3auKcupyeT kaberb rPOMKOTOBOPUTEIS. }

ACBHMMaHMe .

* VYI0CTOBEPBTECH, YTO BbI 3apaHee OTKITIOUHITH
MO/ICOCANHEHHBIE YCTPONCTBA U OTCOECANHMIN Kabemb
MUTaHWUS OT CTEHHOW PO3ETKM MPH U3MEHEHUH MOACOEANHEHHS
WJIM METOJIa YCTaHOBKH.

O

s 4 BHUMAHUE:

* HakmuTe Ha pbIYar U BOTKHUTE KOHEI]
Kabers.

* Ecmn B @ 1 © Kabemsix MPOUCXOAUT KOPOTKOE 3aMBIKAHIE B
pe3yibrare OroJICHHOTO MOABO/ISIIETO IPOBOIA, TEICBU30D

¢ [Inockum DKpaHOM MOMKET OKa3aThCsl 10J] YpE3MEPHOI
HArPy3KOi, YTO MOKET MPHBECTH K MPEKPALICHUIO
(DYHKIIMOHMPOBAHUS WJIM HEMCIIPaBHOW paboTe.
HenpaBuiibHbIe IOICOSTUHEHHS Ka0eIIsi POMKOTOBOPHTEIIS
K TIPaBOii WIIH JICBOW CTOPOHE TEPMHUHATIOB TEIEBH30PA C
TTnockuM DKpaHOM 110 NOJNSPHOCTH MOKET MPUBECTH K
HeIoCTaTouHbIM 3P (HeKTaM CTepeo3ByKa, MIIOXUM HUKHUM
3BYKOBBIM 4aCTOTaM WITH HECTaOUIBHOMY 3BYKOBOMY 00pasy.

 Ecunu BbI norpy3ure kabeib rpOMKOrOBOPHTEISE * Cwmoraiite kabeitb, HE HATATHBAA CTO.

CJIMIIKOM IIyOOKO, TaK YTOOBI H30J LM
Kacajach TSpMUHAIA TPOMKOTOBOPHUTEILS,
BO3MOJKHO 3BYK He OyleT BOCIIPOU3BOIUTHCSL.
IToxasyiicTa MOMECTUTE ero TaK, 4ToObI ObLT
BUJICH MEJHBIIl IPOBO,.

X

 IlpoBepbre HAIEHKHO JIH MOJICOSTMHEHbI KaOeIn
TPOMKOTOBOPHUTENICH K TepMUHAJIaM, Cllerka
MOTSTHYB 3a Kabelb MOCIIe MOICOCTNHCHUS.

S
s
X
0
3]
)

-8

Hemnornoe TIOACOCTUHECHUE MOXKET IMPUBECTHU K
IPEPLIBAHUIO 3BYKa UJINA ITIOMEXaM.

47

Download from Www.Somanuals.com. All Manuals Search And Download.



Pycckuin

10. CBA3bIBaHMe Kabenen.

JUi1st KperuieHus: KabelbHOTO 3aKMMa BBIITOIHUTE

HWKECIIEYIOIHE IeHCTBYS.

1) IlpozxeHBTE JEHTY 3a)KHUMa Yepe3 ACP/KATeIIb U CBSKUTE
Kkabesnb(1) B KaOeIbHOM 3a)KHME.

2) IlpoTonkHuTEe U yaepKUBaiTe PHIYayKKH, 3aTEM BCTAaBETE
KPIOYOK B COOTBETCTBYIOIIIEEC OTBEPCTHE Ha 3a/IHEH
4yacTu TeneBusopa ¢ [lmockum DKpaHoM.

3) BeITAHHTE JICHTY 32)KHMa BBEPX JUISl 3aICIKUBAHHS.

4) VY1ocToBepbTeCh, YTO KaOEIbHBII 32)KUM IIPOYHO
3aMKCHpPOBaH Ha MTAHEIH.

BHI/IMAHVIE:

W30eraiite caaBinuBaHus WM CO3AHHUS TOYEK JAABICHUS TIPU
MIPOKJIAJIKE UITH CBSI3bIBAHMM KaOeseH.

UroObl CHATH JICHTY 32)KMMa, BBITSTHUTE U yAEpKUBalTe
3aIIeIKy JUIs 0CBOOOXKICHHS.

YToObI CHATH KaOCNBHBIN 3a)KHUM, HOKMHUTE U yAEPKHUBAKTE
PBIYAXKKH, 3aTEM BHITALINTE UX U3 OTBEPCTHSI.

3arenka

Prraaskox

Prraaskox

BHVIMAHVIE:

UeM 0MIBIIE YCTAHOBIICH HA MECTE 3a)KHM, TeM OOJIbIIe
BEPOSTHOCTD €ro u3Hoca. bosee crapblil 3akum jerde
HOBPEK/IACTCS TP CHATHH M MOJKET OBITh HETPUTOICH IS
MTOBTOPHOT'O MCIOJIb30BaHUSL.

V 3ajHss 4acThb Tenesnsopa ¢ [Tnockum 91<paH0M

i DDDSSSD

KabGenbuprii KabenbHbrit
32KUM 32KUM

KaGe.1bHbIi
32KUM

Kabenb rpoMKoroBopHTEIIs

Mpu ncnonb3oBaHuun
HacCTeHHOro ycTpoucTBa:

s 4 BHUIMAHUE:

CHayaJsa nocrasbre TeneBu3op ¢ [lnockum DxpaHoM Ha
MSTKYIO IIOBEPXHOCTBD U T.JI., 3aT€M IPHKPEIIUTE IePIKATSIIH
TPOMKOTOBOPHUTEIIEiT TPOMKOTOBOPHTEIH.

1. MpuKpenuTe rpOMKOroBopuUTesin K
TeneBusopy c Mnocknm AkpaHoM
(cmoTpuTe NyHKTbLI 1 — 10 Ha
cTpaHuuax 45 — 48).

INoncoenunure npyrue kabeau v kabeab MUTaHUSA K
TeneBu3opy ¢ [lnockum DkpaHoM.

2. Pacnonoxute TeneBusop c lNnockum
OKpaHOM Ha PUTUHIM ONA KpenneHus
HacTEeHHOro yCTpoMucTBa.

Jns monpoGHON HH(OPMAIIMU CMOTPUTE HHCTPYKIHH 10

9KCIUTyaTalnH, KOTOPbIC MOCTYIHIN BMECTE C HACTCHHBIM
YCTPOHCTBOM.

ABHMMaHMe

He nopnumaiite teneBuzop ¢ [lnockum DxpaHoM 3a
I'POMKOTOBOPUTENIH. [ POMKOTOBOPUTEIN MOTYT OTOWTH, TaK
YTO JAEPKUTE I'POMKOIOBOPHUTEIb 38 HUMKHIOK YacTh.

48 Download from Www.Somanuals.com. All Manuals Search And Download.



yxXoa 3A KOPIYCOM

* Mcnonb3yiiTe TKaHb JJIs IONMUPOBKH HIN CYXYIO TKaHb JUIS
CTUPAHUS TBUTH U IPS3H.

» Korna kopItyc 04eHb IPSI3HBI, IPOTPHUTE €TI0 MITKOI TKaHbIO,
CMOYCHHOI BOZOPACTBOPUMBIM OYHCTUTEIIEM, 3aTEM BHOBb
MPOTPHUTE CyXOil TKaHbt0. He ucnounp3yitTe noamposs 1is
Mebenu wiu ourcTuTeN. OHU MOTYT HOBPEINUTD TOBEPXHOCTD
KopITyca.

* Huxkorna He ucnonb3yiiTe pacTBOPUTENH, OEH3HH, CIIPEH U
JIpyTrue XMMHKaThl Ha TIOBEPXHOCTH MJIM BOIN3H KOPITYCOB, TaK
KaK OHU HOBPE/IST IOBEPXHOCTb.

 Ilpu uCTIOIB30BAaHUH XUMHYECKON TKAHH, BHUMATEJILHO
MIPOYUTANTE MEPHI IPEIOCTOPOKHOCTH ISl XHMHIECKOH
TKaHH.

Pycckun

CNEUNDPUKALINUA

Kopmye. ............. C (poHTATBHBIM H3ITyYeHHEM 3ByKOBOI BOJIHBI

Vcronp3yemble rpOMKOTOBOPUTENH (ABYXKaHAIbHAsI CHCTEMA):
Bybep (1u1s1 HU3KOYaCTOTHBIX 3BYKOB)
............................................ 6,6 cm x 10,6 cM KOHYCOOOpa3HBbIi
TBuTep (U1 BHICOKAYaCTOTHBIX 3BYKOB)
.................................................... 2,5 cM MOJIYKyMOJILHOTO THIIA

COTIPOTHBIICHHE ......eeevieteneeeisieeeeeetesie et eeeteneeieseeneeseaneseeneas 6 Om
JIMAMA30H TACTOT. ..cvveveenrereereereseneneenneenes ot 60 I'y mo 30 000 T'ig
YyBcTBUTEIBHOCTD (1 M, 1 BATT) .oevveveieiiiiicen 80 neuuben
JlomycTuMast MOIITHOCTb:
MaKCUMAIBHAS MOITHOCTD ..uveuevierinreneeeeeneneeneneneneenes 18 Barr
HomunnanbHast HOTPEOISIEMAst MOITHOCTD  ....c.vveeeeenvenens 6 BarT
HacToTa pa3aeeHUsI KAHATIOB. ......co.euveveerereneerirenreneseenenene 4 I’y

Hapy:xHble pa3Mepsl ...... 105 mm (L) x 723 MM (B) x 66 MM (I)
Bec:
TPOMKOTOBOPHUTEND (OJTHA ITYKA)....vevvereereveneeerareeeneanes 1,55 kg
I'pomxorosopurenu (napa) ¢ kabensmu,
JepIKaTeNsIMU U BUHTAMH
Axceccyapsl (17151 IByX 'POMKOTOBOpHTEIEi )
KabeJI rPOMKOTOBOPHTENEH X 2
Jlep>karenu rpoMKoroBopuTesnei
Juts BepxHero jieoro (TOP L) x 1
Jutst HiokHero jieBoro (BOTTOM L) x 1
quist Bepxuero npasoro (TOP R) x 1
Juist HukHero ripasoro (BOTTOM R) x 1
............................. BuHTBI 17151 yCTaHOBKH I'POMKOTOBOPHTEIICH
(MS x 10 Mmm) X 16
............................................ WHCcTpyKIuHu 1o 9KCIuTyaTanuu X 1

BHUMAHMUE:
CrienuuKanyu 1 KOHCTPYKIUH MOTYT OBbITh MOITU(DUIIMPOBAHBI
0e3 NpeLyPEKICHNS, BCICACTBUE YCOBEPLICHCTBOBAHHIA.

VCTPOMCTBA.

HOMEP MOJIEJIN

BAXHO — 3ATMINUTE ITPUBEAEHHBIN HIDKE HOMEP MOJIEJIU M CEPUIAHBIN HOMEP JAHHOI'O

HOMEPA HAXOJSATCS HA OBOPOTHOM CTOPOHE.

CEPUIHBIIT HOMEP

COXPAHUTE TH HOMEPA JIJIsI JAJIbHEMIIIETO UCTIOJTIE30BAHMS.

i

Ecnv Bbl XenaeTte yTUnM3npoBaTb fiaHHOe U3fenue, He BbIGpacbiBaiTe ero BMeCTe ¢ 06bl4HbIM GbITOBLIM MycopoM. CyLlecTByeT
oTAenbHasi cuctema c6opa UCMoNb30BaHHbIX AMEKTPOHHbIX U3ENUI B COOTBETCTBUM C 3aKOHOAATENIbCTBOM, KOTOpast
npeanonaraeT COOTBETCTBYIOLLEE O6paLLieHre, BO3BPAT M NepepaboTKy.

YacTHble KNWeHTbI-B cTpaHax-uneHax EC, B LLBeliLapuu 1 Hopervuy MoryT 6ecniaTHo BO3BpaLlaTh UCMONb30BaHHbIE ANEKTPOHHbIE
13[enusi B COOTBETCTBYIOLLME MyHKTbI c6opa Unv ausepy (Mpu NoKynke CXOAHOrO HOBOTO U3LENUs).

B CTpaHax, He nepe4vuncrieHHbIX Bbille, Aa nosly4eHnsa VIHCbOpMaLlVIVI O NpaBUbHbIX cnocobax ytnnusauumm 06pau4a|7|Ter B

COOTBETCTBYHOLUME yHpeXxaeHUs.

MocTynas Taknm 06pa3oM, Bbl MOXeTe 6bITb YBEPEHbI B TOM, YTO YTUNU3UPYEMbIV MPOAYKT 6yAeT COOTBETCTBYIOLLMM 06pa3omM o6paboTaH,
nepefaH B COOTBETCTBYIOLLMIA MYHKT 1 nepepaboTaH 6e3 BO3MOXHbIX HEraTUBHbIX MOCNEACTBUIA A1 OKPYXXAKOLLEN Cpefbl U 300POBbA

nonen.

KO058_A_Ru

W3nano Pioneer Corporation.
© Pioneer Corporation, 2008.
Bce npasa 3amuieHst.

Download from Www.Somanuals.com. All Manuals Search And Download.

49

S
s
X
0
3]
)

-8



MpumeyaHwue:

B cootBeTCcTBUM CcO cTaThel 5 3akoHa Poccuiickon Penepaunm “O 3awmTte npas notpebutensa” n
YkasaHuewm NpaButensctea Poccuiickon Pepepaunm Ne 720 ot 16 uioHs 1997 roga, kopnopauusi
Pioneer Europe NV ycTaHaBnvBaeT ycrnoBue Ha CneayoLLyo NPOAOIKUTENBHOCTb Cpoka
cnyx6bl ohrumanbHO NocTaBnsieMblX Ha POCCUIACKMIA PbIHOK TOBAPOB.

Ayavo n BugeoobopynoBaHue: 7 net

MepeHocHoe ayanoobopynoBaHue: 6 net

[Opyroe o6opyaoBaHue (HayLLUHWKWU, MUKPOMOH 1 T.4.): 5 neT
ABTOMOGUIbHAs ANEKTpoHUKa: 6 net

D3-7-10-6_Ru

Discover the benefits of registering your product online at
http://www.pioneer.co.uk (or http://www.pioneer.eu).

Découvrez les nombreux avantages offerts en enregistrant votre produit en ligne
maintenant sur http://www.pioneer.fr (ou http://www.pioneer.eu).

Bitte nutzen Sie die Mdglichkeit zur Registrierung Ihres Produktes unter
http://www.pioneer.de (oder http://www.pioneer.eu)

Registra il tuo prodotto su http://www.pioneetr.it (o http://www.pioneer.eu) e
scopri subito quali vantaggi puoi ottenere!

Ontdek nu de voordelen van online registratie! Registreer uw Pioneer product via
http://www.pioneer.nl - http://www.pioneer.be (of http://www.pioneer.eu)

Registre su producto en http://www.pioneer.es (o en http://www.pioneer.eu)
Descubra los beneficios de registrarse on-line:

3apeructpupyiite Bawe usaenve Ha http://www.pioneer-rus.ru (vnu
http://www.pioneer.eu). O3HakoMbTeCb C NpenmyLLecTBaMN permctpauuv B MIHTepHeT

PIONEER CORPORATION

4-1, Meguro 1-Chome, Meguro-ku, Tokyo 153-8654, Japan
Kopnopauus NManoHup

4-1, Merypo 1-Yowme, Merypo-ky, Tokno 153-8654, AnoHuns

PIONEER ELECTRONICS (USA) INC.

P.O. BOX 1540, Long Beach, California 90801-1540, U.S.A. TEL: (800) 421-1404
PIONEER ELECTRONICS OF CANADA, INC.

300 Allstate Parkway, Markham, Ontario L3R 0P2, Canada TEL: 1-877-283-5901, 905-479-4411
PIONEER EUROPE NV

Haven 1087, Keetberglaan 1, B-9120 Melsele, Belgium TEL: 03/570.05.11
PIONEER ELECTRONICS ASIACENTRE PTE. LTD.

253 Alexandra Road, #04-01, Singapore 159936 TEL: 65-6472-7555
PIONEER ELECTRONICS AUSTRALIA PTY. LTD.

178-184 Boundary Road, Braeside, Victoria 3195, Australia, TEL: (03) 9586-6300

PIONEER ELECTRONICS DE MEXICO S.A. DE C.V.
Blvd.Manuel Avila Camacho 138 10 piso Col.Lomas de Chapultepec, Mexico, D.F. 11000 TEL: 55-9178-4270
K002_B_En

Published by Pioneer Corporation.

Copyright © 2008 Pioneer Corporation.

All rights reserved.

Publication de Pioneer Corporation.

© 2008 Pioneer Corporation.

Tous droits de reproduction et de traduction réservés.

<SRD1359-A>

Download from Www.Somanuals.com. All Manuals Search And Download.

Printed in China
Imprimé en Chine



Free Manuals Download Website
http://myh66.com
http://usermanuals.us

http://www.somanuals.com

http://www.4manuals.cc

http://www.manual-lib.com

http://www.404manual.com

http://www.luxmanual.com

http://aubethermostatmanual.com

Golf course search by state

http://golfingnear.com

Email search by domain

http://emailbydomain.com

Auto manuals search

http://auto.somanuals.com

TV manuals search

http://tv.somanuals.com



http://myh66.com/
http://usermanuals.us/
http://www.somanuals.com/
http://www.4manuals.cc/
http://www.manual-lib.com/
http://www.404manual.com/
http://www.luxmanual.com/
http://aubethermostatmanual.com/
http://www.golfingnear.com/
http://emailbydomain.com/
http://auto.somanuals.com/
http://tv.somanuals.com/



